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Study the following table and answer the questions based on it:

Question No.1 Marks: 1.00

Bookmark
What is the ratio of total orders on Application A during all the given timings to the total orders on
Application C during all the given timings?
fqu U Mt Ioal ¥ Tt RH A IR $d e ¥ fau 7 @it Tl ¥ Tl =M C R $d 3iTe) B
3T &1 82
(A) O 757:117
757:117

(B) O 757:157 (Correct Answer) (Chosen option)
757:157

(C)O 757:115
757:115

(D) © 757:113
757:113

Question No.2 Marks: 1.00

Bookmark
What is the average food order on all the given Applications during night time?

3 TS It TR TR A & R, HIoH TR &1 3iid &1 672
(A) O 56,904 (Correct Answer) (Chosen option)
56,904
(B) O 56,940
56,940
(C) O 56,409
56,409
(D) O 46,094
46,094

Question No.3 Marks: 1.00
Free l"ownloaded From - www.exammix.com Bookmark
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Assume Application C is shut down due to technical fault on that day and if all the orders placed
on Application C is split and allocated to Application A and Application B by 60% and 40%
respectively, then what is the total orders received by Application A during all the given timings
on that day?
T T b Teliehe C U fo debioht 221 & BRI o€ § 3R e Twefieh® € WR o 7Y 3R
P! Sic B TRAHIH A 3R TEHBRH B & aTd HHRN: 60% 3R 40% faaRkd fasar sirar g, @ 34 fe
fu 7T Tr & AN TR A GRT UK $d SIS &1 1 &1 82
(A) O 255,036

255,036
(B) O 255,360 (Correct Answer)

255,360
(C) O 255,630

255,630
(D) © 255,603 (Chosen option)

255,603

Question No.4 Marks: 1.00
Bookmark
The difference of orders on App B in afternoon and App A at night is how much lesser than the
orders on App A in the Morning?
SI9ER B UU B 3R Id H TT A & TSI &7 3R, g H T A WR 3SR I fara1 HH g2
(A) O 30,000 (Correct Answer)
30,000
(B) O 30,500 (Chosen option)
30,500
(C) O 30,600
30,600
(D) © 30,700
30,700

Question No.5 Marks: 1.00
Bookmark
In this question, a statement is given followed by two conclusions numbered i and ii. You
have to assume everything in the statement to be true, then consider the two conclusions
together and decide which of them logically follows beyond a reasonable doubt from the
information given in the statement.

Statement: Only those who score more than 70% in Board exams will get admission in ABC
college of Engineering. Ranijit scored 76% in Board exams.

Conclusions:

i) Ranijit is not eligible to get admission in ABC College of Engineering.

ii) Ranjit may join ABC College of Engineering.

Choose the appropriate one from the following options.

(A) Only conclusion i follows
(B) Only conclusion ii follows
(C) Either i or ii follows

(D) Neither i nor ii follows and

(E) Both i and ii follow.

Y U H, T YT 3R 3P 916 i 3R ii V TBHifPpd ol ey g M g1 sy A 78
T GIAT D1 Td T §U TP 1Y g1 (spul IR R a3 ik Fuita s fp sad @
P9 A s wy= § § 7€ g1 &1 gy Wee ¥ W aifee U A SgEu id 8

HY: TP 3 dIe T H 70% I 3P &, Had I8 el ABC HIael 3 Sol=areT & TasT
%m;f}mmﬁﬂaﬁaﬁ-s‘uﬂ&nﬁm% 3 UT fpu|

i) ot ABC BTaret 3t SofrareT & v o & dr T R

ii) ISid ABC iciet 3Tt o & uasr o Tebdi g1




1/27/2021 View Question Paper
fafaRad fawel & ¥ Suged fawed g

(A) Fad FshY | 3R BT §

(B) e Y ii S(THRUT PRl &

(C) 1t FIseB e i T i SITEROT Rl B

(D) 7 & I i 3R T i STTRUT AT §

(E) T fIsah i 3R ii SR 3 &

(A) O ﬁ

(B) O B (Correct Answer) (Chosen option)
B

(©)O

(D) O

mm OO

Case Study - 6 to 10

the people who like Tigers.

5.00

Among 1200 visitors of a Zoo, it was found that the people who like Tigers are 100 more than the people
who like Lions; people who like Lions are 50% of the total visitors of the Zoo. People who like Elephants
are 125% of the people who like Lions; people who like all these three animals are 500 less than the

people who like Elephants and the people who didn't like any of these three animals are equal to (‘I/7)th of

Question No.6

How many people like exactly two Animals?
foram T 3t &1 ugefl &Y THiE B 7
(A) O 150 (Chosen option)

150

(B) O 90
90
(C)O 400
400

(D) O 450 (Correct Answer)
450

Marks: 1.00
Bookmark

Question No.7

What is the minimum possible number of people who like only Elephants?
Had B! B! TG HRA aTel AT b AaH THT TS T 82
(A) O 100

100

(B) O 50 (Correct Answer)
50

(C)O 60
60

(D) O 70 (Chosen option)
70

Marks: 1.00
Bookmark

Question No.8

If 90 people like only Tigers, then how many people like Lions and Elephants but not Tigers?
& 90 AT Fad aTel Bl TR HRd ©, al fha- @l IR SR IR Pl URig FHvd § W aref
817

(A) O 450 (Chosen option)

Marks: 1.00
Bookmark
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450

(B) O 90 (Correct Answer)
90

(C) O 400
400
(D) O 150
150

Question No.9

If 200 people like only Elephants, then how many people like Lions and Tigers but not
Elephants?
g 200 TN FHadt I BT THE Fd 7, Al T a1 IR 3R FT6 BT IRig FHRd § IR g1l
812
(A) O 450 (Chosen option)
450
(B) O 150 (Correct Answer)
150
(C)O 90
90
(D) O 400
400

Marks: 1.00
Bookmark

Question No.10

How many people like exactly one animal?
fora @, 3 U U ! TS HRd 872
(A) O 400 (Correct Answer)
400
(B) O 150 (Chosen option)
150
(C)O 90
90
(D) O 450
450

Marks: 1.00
Bookmark

Question No.11

Which one of the given four alternatives will be the next figure for the given series?

Marks:
1.00

Bookmark

<&
AN

Q

=

O

Q

O

V

4

2

O

»

AN

Q

4




1/27/2021

View Question Paper

feu e =R fasedl # 9, < 1S IR & forw SrTel fam i e
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(A) O

B) O
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(Correct Answer) (Chosen option)
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Question No.12

Read the given information carefully and answer the questions that follow.

Five movie producers Mark Waugh, Tendulkar, Wasim Akram, Faf du Plessis and Sanath
Jayasuriya produced one of the following movies each but not necessarily in the same order.
M S Dhoni: The Untold Story, Take It Easy, Waiting, Friends Forever and Sultan

Much to your surprise, these movies were released worldwide in a single go, but on different
days---Monday, Tuesday, Wednesday, Friday and Saturday. The initial letters of a producer, his
movie name and the day it was released do not match at all. Also

i) 'Take It Easy' did not release on Saturday

ii) Sanath Jayasuriya did not release his movie on Monday

i) Tendulkar produced neither 'M S Dhoni' nor 'Waiting'

iv) The producer of 'M S Dhoni' did not release his movie on Friday

v) Wasim Akram released his movie on Tuesday but he produced neither M S Dhoni nor Sultan
vi) Mark Waugh produced neither Friends Forever nor Sultan and he did not release his movie
on Friday or Saturday

Tendulkar released his movie on which day?

Marks: 1.00
Bookmark
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3 TS TR Y wFEYde ue R 3T e uyl & IR S|

uia firer fmfar A af, dgaes, I /v, W% § WY iR Iy o yds A g o 9

U e 1 Fafor fan, Afes sifard dR o 32t ovw & =&

T Ty 4T g 3FCicE R, T 3¢ Suit, afeT, Thgy BRUER 3R YoM |

3y 9, 3 e gfar R & Ue g1 IR § R g8, Afch S1a-31aT il IR - iHaR, HaaR,

YR, YHAR 3R MR | T Ffdr & A8 & IR sieR, 3TS! e & A1 & URMAS 31eR

3R o &7 20 Relist v mman, 39 URM® 3R, faepa Ad 781 @ |

i) o e Foi WMAR &I Rl T8t g3 |

if) 7Y STagal A WHaR & ST fther Raftet T8l o1

iii) dgate 7 7 O TH T 4T 3R T & afé @1 famfor fean

iv) TH T 4T & a3 st fived IhaR &1 Refiet 18t o1

ﬁ%mﬁmmﬁwﬁmﬁﬁ%ﬁﬁqﬁ@wﬁﬁﬂﬁwm
|

vi) AT a1 3, T @ ‘Thgd BRUaR’ 3R 7 8 gedrr F1 fHair far ek 311 YwHaR a1 IfFaR &

3o ftrer Refiet 7gt @t

dgams A U b fow T feafir o1

(A) O Tuesday
HITAAR

(B) O Monday (Correct Answer) (Chosen option)
AR

(C) O Saturday
RIECIN

(D) O Wednesday
gYdR

Question No.13 Marks: 1.00

Bookmark
In this question, three statements are given followed by three conclusions numbered i, ii
and iii. You have to assume everything in the statements to be true, then consider the
three conclusions together and decide which of them logically follows beyond a
reasonable doubt from the information given in the statements.

Statements: All oaks are banyans. All palms are banyans. All banyans are trees.

Conclusions:

i) All oaks are trees

ii) All trees are palms

i) No oak is palm.

T U A, f9 $YF 3R 3T 1< i, ii 3R iii ¥ G&ifpd A9 ey fou 78 &1 w7 &
TS JUE GIT S 9 Ad §U TP 1Y i Freput iR fagr &8 o fuffa & e sa @
P19 A s wy=i § § 7€ g1 @1 gyid Wi ¥ W aifehe U A SgEu a8

FY: I Iqa, e & | Tt e, e § | It RvTe, gef g
e

i) 9ot 5o, g B

i) Tt gef, TS B

iii) PIs Fed, 1S Tei 3

(A) O Only i) and ii) follow
Had i) 3R i) STIART HRA &

(B) O Either ii) or iii) follows
g1l i) T i) SR Rl §

(C) O Only i) and either ii) or iii) follows
Had i) 3R AT QA i) T iii) TRV B §

(D) O Only i) follows (Correct Answer) (Chosen option)
P i) SR HAT &
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Question No.14 Marks:
1.00

Bookmark
Which one of the given four alternatives will be the next figure for the given series?

feu T aR fApedt § @, <) 12 Ao & forg spTen fast e g

(A) O

(B) O

(Chosen option)
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(©)O

(Correct Answer)

(D) O

Question No.15 Marks: 1.00

Bookmark
In this question, a statement is given followed by two conclusions numbered i and ii. You
have to assume everything in the statement to be true, then consider the two conclusions
together and decide which of them logically follows beyond a reasonable doubt from the
information given in the statement.
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Statement: Only the intelligent students will pass the examination. John is intelligent.
Conclusions:

i) John can pass the examination if he writes it.

ii) John is a brave student

Choose the appropriate one from the following options.
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows and

(E) Both i and ii follow.

Y UL H, T YT 3R 3P 91¢ i 3R ii W GBHifPpd ol fFepd e e g1 pya A ff w8
U AT B! T A §U TP 1Y g frepsl iR faar & ok Ruffka &3 e saa @
ﬁqﬁﬁwﬁaﬁﬁaﬁﬂémmﬂgﬁmaﬁgﬁﬁmﬁwﬁmmﬁ%l

PYA: Had gaH O Tl T STl 81| S Ifesd &
i afe; Wit oien e 2, ) a8 Sl & ST 2
ii) S T ATgH! B 5

(

(B) Wﬁﬁmf ii 3IIERUT BT §

(C) a1t FIseB e i T i SITEROT Rl B

(D) 71 &1 fAshY i 3R 7 i 3RV Rl §

(E) E‘ﬁ‘ﬁﬁﬁb'ﬁfl AR i SR IRA T

(A)O B
B

B)O D
D

(C)O E
E

(D) O A (Correct Answer) (Chosen option)
A

Question No.16 Marks: 1.00

Bookmark
In this question, a statement is given followed by two conclusions numbered i and ii. You
have to assume everything in the statement to be true, then consider the two conclusions
together and decide which of them logically follows beyond a reasonable doubt from the
information given in the statement.

Statement: Rahul reads 20 pages, a day
Conclusions:

i) Rahul is good in reading

ii) Rahul is reading newspaper.

Choose the appropriate one from the following options.

(A) Only conclusion i follows
(B) Only conclusion ii follows
(C) Either i or ii follows

(D) Neither i nor ii follows and
(E) Both i and ii follow.

T U ¥, U YA 3R ITP 91¢ i 3N ii A J&Hifpd ¢ fewd fog e g1 sy A S 1s
TR AT $! Td T §U TP T1Y a1 fFArsp el iR far &3¢ o RuiRa &3 fr sa @
ﬁqﬁﬁw&muﬁﬁﬁnﬁmmmﬁmﬁﬁmwﬁmmél
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PYA: Agd, T & H 20 U2 Ugd g
e

i)ﬂgﬂ:qﬁff?ﬂ@'[%l

i) G SR UG V&1 & |

fafaRad fadwedl & ¥ Iugad fadwed g+
(A) Had FpY | SR Rl §
(B)Wﬁr&mﬁ:i TR BT &

(C) a1 al B i AT i STARTT =l §
(D) 71 81 fsBY i 3R 7 i SRV &l §
(E) &t Fep e i 3R i SITRRUT R

(A) O D (Correct Answer) (Chosen option)

D
B)O E
E
(C)O B
B
D)O A
A
) Marks:
Question No.17 1.00
Bookmark

Which one of the given four alternatives will be the next figure for the given series?

feu T IR foredt § 9, <) 13 Ao & forw srTen fast e g

(A) O
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B) O

(€)O

(Correct Answer) (Chosen option)

(D) O
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Question No.18 Marks: 1.00

Bookmark
In this question, two statements are given followed by two conclusions numbered i and ii.
You have to assume everything in the statements to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statements.

Statements: All cycles are motors. Some motors are vehicles.
Conclusions:

i) Some cycles being vehicles is a possibility

ii) Some motors are cycles.

Choose the appropriate one from the following options.

) Only conclusion ii follows

) Either i or ii follows

) Neither i nor ii follows
(E) Both i | and i follow.

T U H, & $YF 3R 3P 915 i R i § J@ifrd &) frepd g mu &1 sy A 7
T GIAT $1 TG T §U TP 1Y g1 (spul IR g #3 ik Fuita s e a9 @
ﬁﬁﬁw&muﬁﬁa&nﬁmmﬂgﬁmmﬁﬁmﬁmwﬁmm%l

FY: Tt IRfHd, MR §1 $© AR, a8
forsf:

i) FS TIRHd b A6 gH BT YU |
ii) FS HIe, Arefhd g

fAafifed faweal & 4 Iuged fadwed g
A) Had FpY | SR Rl §

(
(B) Fad fshY ii SIERUI Rl §
(C) 1 Y fshY i T i SFTERUT Rl §
(D)

(E

(A) Only conclusion i follows
(B
(C
(D

D) 7 & fshY i 3R T ii SRV Hxal §
E) el fshY i 3R i SFIIRUT R §
(A) O E (Correct Answer) (Chosen option)
E

B)O C
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Question No.19 Marks: 1.00
Bookmark
Read the information carefully and answer the following question.

A+B means A is the father of B
A-B means A is the mother of B
A*B means A is the sister of B

A/B means A is the brother of B

In the given expression I+J+K*L, If L is male then how is L related to I?

& TS TSR & AFYdS Ug 3R - foT 78 U8 &1 IR

A+BHTHIE A BHTUATS
A-BHT3I R, A BB
ABHT S A BB dgT8
AB BT, A BHIHE S

TP +J+KL T, T L RU g Y L &7 | 3 o7 e g2
(A) O Grand son (Correct Answer)
A
(B) O Grand daughter (Chosen option)
IS iR
(C) O Brother

(D) O Sister
Cial

Question No.20 Marks: 1.00
Bookmark
In this question, three statements are given followed by two conclusions numbered i and
ii. You have to assume everything in the statements to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statements.

Statements: All roads are lanes. All lanes are streets. All streets are blocks.
Conclusions:

i) All roads are blocks

ii) Some streets are roads.

Choose the appropriate one from the following options.

(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

T U A, fIF $YF 3R 37 916 i 3R ii A F=Hifrd &l ey e e &1 sy A H 1
T GIAT B Td T §U TP 1Y g1 (pui IR R o3 ik Fuita s e sad @
P9 A s wy= # § 7€ g1 @1 gy WeE Q@ W aifee U A SgEe Hid 8

FY: Tt Ve, A9 g1 It 71, Eie 71 it Eie, sl |1
frep:
i) gt Je, =1 B
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ii) $O wIc, AS |

frafaRad fadwedl & ¥ Iugad fawed g+

(A) Pad TP | 3ERUI BT §

(B) Fad F5hY ii IR FH=ll §

(C) a1 A fseh i AT i SRV Bl §

(D) 71 &1 FshY i 3R 7 i SRV vl §

(E) ! Fep e i 3R i SITERUT R §

(A) O ﬁ

(B) O E (Correct Answer) (Chosen option)
© O

(D) O

OO0 Ww m

Question No.21 Marks: 1.00
Bookmark
In this question, two statements are given followed by two conclusions numbered i and ii.
You have to assume everything in the statements to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statements.

Statements: All apples are grapes. Some apples are oranges.
Conclusions:

i) Some oranges are apples.

ii) All oranges are grapes.

Choose the appropriate one from the following options.

) Only conclusion | follows
) Only conclusion Il follows
) Either | or |l follows

) Neither I nor Il follows
(E) Both | and Il follow.

T U H, & $YF 3R 39P 915 i iR i & J&iferd o) faerd g me &1 sy A §f w$

IR AT $! Td T §U TP 1Y a1 fFArsp et iR far &3¢ o FuiRa &3 f sad @
P9 A s wy= § & 7S GEAT &1 9y Wee 9 W aifhe ©U A U #id 8

FYF: T 49, SR 81 $© 9, YR ¢ |

s \¢

i) $B IR, AT

i) Tt IR, SR €

fafafad fawedl & ¥ Iugad fadwed g+

T8 Fme i 3R T i STTROT Rl §
S e i SfR i SR R §

(A) O

B)
C) 1 dl fAsh | AT ii STEROT Hal §
D)
E)

B
B
(B)O D
D
C

(€O
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C

(D) O A (Correct Answer) (Chosen option)
A

Question No.22 Marks: 1.00

Bookmark
Read the given information carefully and answer the questions that follow.
Five movie producers Mark Waugh, Tendulkar, Wasim Akram, Faf du Plessis and Sanath
Jayasuriya produced one of the following movies each but not necessarily in the same order.
M S Dhoni: The Untold Story, Take It Easy, Waiting, Friends Forever and Sultan
Much to your surprise, these movies were released worldwide in a single go, but on different
days---Monday, Tuesday, Wednesday, Friday and Saturday. The initial letters of a producer, his
movie name and the day it was released do not match at all. Also
i) 'Take It Easy' did not release on Saturday
ii) Sanath Jayasuriya did not release his movie on Monday
i) Tendulkar produced neither 'M S Dhoni' nor 'Waiting'
iv) The producer of 'M S Dhoni' did not release his movie on Friday
v) Wasim Akram released his movie on Tuesday but he produced neither M S Dhoni nor Sultan
vi) Mark Waugh produced neither Friends Forever nor Sultan and he did not release his movie
on Friday or Saturday

Which movie was released on Friday?

3 TS SFER P taFYd® ue SR 2T T usl b IR I

g e fAufdr Ardh af, dgame, I 3hRd, B § @R 3R 7Y sl yds 3 g o 9

T e 1 fafor fran, e sifard dR o 32t ovw & =&

TH TY 9 g eI W, T 3¢ Suil, AfeT, Thgd HRuaR 3R YedH |

3y 9, 3 el gfFar R & Ue 8 IR ¥ Rl g8, Afh Sa-34eT el - SHaR, HaaR,

FUIR, YHAR 3R AR W T FAfar & T & RS 3HeR, IqH! e & A & URMNS

3R R for fem 38 Refit fopam o, S IR sieR, faea Aa e8! @rd | 39 91 gt

i) T e Soi AR B Rl 781 g3 |

if) T SRt A GHaR &1 3o fhe Reftet et &t |

iii) TgAHR 7 7 A TH Ty e 3R 7 g afer o1 fmfor fsa

iv) TH T 4T & Fofar 3 st fived IhaR &1 Refist T8t o1

gﬁfﬂ?ﬂmmﬁ&m:ﬁfﬁmmw 1 Rellol B Al Swai- = df T TH 4 3R 1 g1 Jea™ &1
|

vi) AT a1 3, @ ‘Thgq BRUaR’ 3R 7 8 Gedrr 1 AT far 3R 3511 haR a1 IfaR &

U ftrer Reftet 7eT @t

IEhAR B BT b Reflel g2

(A) O Waiting (Correct Answer)
afa

(B) O Sultan (Chosen option)
RS SSIE

(C) O Take It Easy
< 3 ol

(D) O Friends Forever
¥ BRI

Question No.23 Marks: 1.00

Bookmark
Arjun is the only son of Sara's father Sachin. How is Sachin related to A%un?
?

3o, TRT & O, Tfed &1 Shadr O3 |1 TieF &1 39 & Iy 1 ey
(A) O Daughter

(B) O Son
el
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(C) O Father (Correct Answer) (Chosen option)

(D) O Mother
)

Question No.24 Marks: 1.00
Bookmark
Read the given information carefully and answer the questions that follow.
Five movie producers Mark Waugh, Tendulkar, Wasim Akram, Faf du Plessis and Sanath
Jayasuriya produced one of the following movies each but not necessarily in the same order.
M S Dhoni: The Untold Story, Take It Easy, Waiting, Friends Forever and Sultan
Much to your surprise, these movies were released worldwide in a single go, but on different
days---Monday, Tuesday, Wednesday, Friday and Saturday. The initial letters of a producer, his
movie name and the day it was released do not match at all. Also
i) 'Take It Easy' did not release on Saturday
ii) Sanath Jayasuriya did not release his movie on Monday
i) Tendulkar produced neither 'M S Dhoni' nor 'Waiting'
iv) The producer of 'M S Dhoni' did not release his movie on Friday
v) Wasim Akram released his movie on Tuesday but he produced neither M S Dhoni nor Sultan
vi) Mark Waugh produced neither Friends Forever nor Sultan and he did not release his movie
on Friday or Saturday

The producer who released his movie on Wednesday produced which movie?

3 TS TR Y wFYde Ue R 3T T usl & IR 3|

Ui ftrer fmfar Ardh af, dgaes, I 3/, Wit § WR 3R 99y Sogaf uds A g o 3

ue e &1 fAmfur faran, afee sifard IR wR =3t 9 & =&

T T Y € 3FCIcE W, T 3¢ Sofl, afeT, Thed BRUR 3R JeaH |

3yl 9, 3 e g WR & Ue € IR § R g3, Afch S1a-31aT il IR - WiHaR, HaaR,

FYIR, YEHAR 3R WFAR | T Fufar & M & RS 3eR, ITD! fhed & A & RIS 3HeR

3R o & 52 Relist fopan mman, 39 URM® 3R, faepd Ad 61 @ |

i) Th e Soi AR B Nl 781 g3 |

ii) T ST - AR B 30+ e Refiot 781 Bl

iii) dgateR A 7 TH T 4T 3R T g afé @1 fmfor fan

iv) TH T 4T & Fafdr 3 ot fired IhaR &1 Refis 78t o1

gﬂ%wﬁ&mﬁﬁmmwﬁmﬁé%ﬁﬂﬁ@wﬁﬁqﬁwm
|

vi) T a1 =, 7 a1 ‘Thgd BRUGR 3R 7 & el H1 FHmir i 3R 351 YohaR a1 WHGR B

U+ foher feier 781 &1 |

FYIR & fa fhed Ralie e arel fafar = fow e &1 fmfor fasar?
(A) ©O M S Dhoni: The Untold Story

TA 09 U1 € 3 TR
(B) O Take It Easy (Correct Answer) (Chosen option)

%C

(C) O Sultan

Hedlq
(D) O Friends Forever

Thgd BRUR

Question No.25 Marks: 1.00
Bookmark
Read the given information carefully and answer the questions that follow.
Five movie producers Mark Waugh, Tendulkar, Wasim Akram, Faf du Plessis and Sanath
Jayasuriya produced one of the following movies each but not necessarily in the same order.
M S Dhoni: The Untold Story, Take It Easy, Waiting, Friends Forever and Sultan
Much to your surprise, these movies were released worldwide in a single go, but on different
days---Monday, Tuesday, Wednesday, Friday and Saturday. The initial letters of a producer, his
movie name and the day it was released do not match at all. Also
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i) 'Take It Easy' did not release on Saturday

ii) Sanath Jayasuriya did not release his movie on Monday

i) Tendulkar produced neither 'M S Dhoni' nor 'Waiting'

iv) The producer of 'M S Dhoni' did not release his movie on Friday

v) Wasim Akram released his movie on Tuesday but he produced neither M S Dhoni nor Sultan
vi) Mark Waugh produced neither Friends Forever nor Sultan and he did not release his movie
on Friday or Saturday

Mark Waugh released which movie?

3 TS THRI P WFYd® U R fRT e uyt & 3w )

g e fAufdr Ardh af, dgams, I 3eh-d, Bt § WRRT 3R Iy srogaf uds 3 g o 9

T b o Ffor fpan, Qe aifard dR R 32t o &

T T Y € 3FCIcE ©R, 3 3¢ Soft, afeT, thed BRURR 3R JeaH |

31y ¥, I fired gfFam 1R T T g1 IR H Reflot g3, AifdeT S-S faf R - 9iHaR, HaaR,

FYIR, YHAR 3R AR | T fFfar & 91 & IR 3HeR, S fbed 3 T 3 URRID 3HER

3R forg 1 39 Reefiet fama T, 39 IR sier, foepa Aa 781 @1d|

i) Th 3 Soi AR B N T8t g8 |

if) T ST A GHAR $T 3o b e Refe el &t |

iii) dgaemR 4 7 @ TH T Y 3R A 8 afe T &1 fFAmtor fasan

iv) TH T 4T & Fmfar 3 st fire Iorar &1 Refie 78t o1

ﬁaﬁ%m&wﬁm&mwﬁﬂ?ﬂaﬁaﬁﬁqa@wﬁeﬁwﬁwm
|

vi) AT a1 A, T Trgd BRUAY 3R 7 & Fed ' o1 A fomar 3R 38R YR a1 AR &

3T e Rediel 781 &l

AT a1 A S 9 e Rl d1?
(A) O Sultan

JodH
(B) O M S Dhoni: The Untold Story (Chosen option)
TH TF U € 3FCies ¥R

(C) O Friends Forever

g BRUARR
(D) O Take It Easy (Correct Answer)
T e guil
NUMERICAL ABILITY - NUMERICAL ABILITY
Question No.1 Marks: 1.00
Bookmark

How many 4 character alpha numeric codes can be formed using A,2,B,4,C and 6?(none of the
digits/Alpha are repeated)

A, 2, B, 4, C 3R 6 BT SUTINT IR fhd- 4 3HeR-3( (3ehT GARD) HIS F1T S Johd 872 (Pls
Wt 3ich/31&R QIGRTAT 5! STY)
(A) O 362

362

(B) O 363
363

(C) O 360 (Correct Answer) (Chosen option)
360

(D) O 361
361

Question No.2 Marks: 1.00

Bookmark
Azar invested Rs.19215 in Rs.25 shares quoted at Rs.15.25. If the rate of dividend is15%, his
annual income is(in Rs):
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3f9R 9 Rs.25 & QIR H Ol Rs.15.25 W IGYd &, H Rs.19215 H1 (a1 b afe i a6t &)
15% &, Y IP! aIitics 3T F1d B | (Rs. H)
(A) O 4525

4525

(B) O 4625 (Chosen option)
4625

(C) O 4725 (Correct Answer)
4725

(D) O 4825
4825

Question No.3 Marks: 1.00
Bookmark
Find the total amount if Rs.54650 is invested at 18% per annum under simple interest for 7
years.(in Rs)
7 9N & foTT WIYRUT §TST & d8d 18% NN &2 I AT fhT T Rs.54650 TR Hof fH%ed AT
P I(Rs. H)
(A) O 123509 (Correct Answer) (Chosen option)
123509
(B) O 124509
124509
(C) O 125509
125509

(D) O 122509
122509

Question No.4 Marks: 1.00
Bookmark
Banglore Rajdhani -22692 Express running from Delhi at 11/16 of its own speed and reached
Banglore in 32 hrs. How much time could be saved if it runs at its own speed?(in hours)

FTAR ISTT-22692 TN (U= AT BT 11/16 TR foeh ¥ Tawd g 3R 32 Hel # ek ugadt
21 afe g 3o =rd WR Iard, df foramT Sy s S Gohdi 87 (Ul H)

(A)O 8
8

B)0 4
4

(C) O 10 (Correct Answer) (Chosen option)
10

(D)O 6
6

Question No.5 Marks: 1.00
Bookmark
Cold nine by selling pendrive gains 14% after allowing a discount of 20% on the market price.
Find the profit percent, if the pendrives are sold at market price allowing no discount.
TR G TR 20% HI FE G & d1G, HITS TS Ud U1gI3d qadHR 14% AT U Hal gl afG
UIged &1 ol foreht e & SToTR Hed R ST Tl 8, < ary ufa=rd 1d o3|
(A) O 42.5 (Correct Answer) (Chosen option)
42.5
(B) O 435
43.5
(C)O 445
445
(D) O 45.5
45.5
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Question No.6 Marks: 1.00
Bookmark

Find the cost price of Rs.2600 at a discount of 11%, when brokerage is 2.2%.
& Rs.2600 TR 11% Fe 3R 3G 2.2% &, 1 58 T J1d HifoTg|
(A) O 2571.2
2571.2
(B) O 5671.2
5671.2
(C) O 2371.2 (Correct Answer) (Chosen option)
2371.2

(D) O 2471.2
2471.2

Question No.7 Marks: 1.00
Bookmark

Joseph went to buy a second hand cupboard, the broker asked him to pay 28% commission if he
wants the cupboard after the service. If not he can get 10% discount on the actual price. Then
Joseph decided to take the cupboard without service and paid Rs.10440. By this how much
money would Joseph saved on purchasing the cupboard?(in Rs)
TR U Y4 Ygad STHRT WIS T4, Al 98 SAHRT 6 T & o1e 1 Iredl 81 al Sl 3 39
28% 3Mgd ¢ I Hell fS g1, dl 98 aRdfdd Ted W 10% $I Fe U1 Jhdl 5 | a9 St A faqr
I & SAHRY B A1 99 T 3R Rs. 10440 HT YA fobarT | T SHRT Wi TR S A
faq &9 & Fad B1? (Rs. H)
(A) O 4308

4308
(B) O 4508 (Chosen option)

4508
(C) O 4208

4208

(D) O 4408 (Correct Answer)
4408

Question No.8 Marks: 1.00
Bookmark

Williamson bought a Rolex Submariner Blue Dial watch costing Rs.19620 including sales tax at
9%. He asked the shopkeeper to reduce the price of the watch so that he can save the amount
equal to the sales tax. Find the reduction in the price of the watch(including sales tax).(in Rs)
TR =1 9% faht HR Afgd, Rs.19620 T WR Ueh Ao IHRIAR & ST gIY-9g! Wi |
I GHFGR Dl TSt BT Jed HH DR o (o1 gl o fob I8 faehl HR & sRIsR M & sad B
T | I8! o G H HH! I B | (foep! R Afgd) (Rs. H)
(A) O 1660

1660
(B) O 1640

1640
(C) O 1600

1600

(D) O 1620 (Correct Answer) (Chosen option)
1620

Question No.9 Marks: 1.00
Bookmark

A container contains 135 litres mixture of water and flavourings in the ratio 13:14. How many
litres of water to be added, so that the resultant ratio of water to flavourings becomes 1:1.

TS HeR B, Ofd Ud JaHRI Uardf &1 135 Tiex {801, 13:14 % 3Urd # § | 398 fhaa dier oid
foretran ST TfRT o STt oiR ARt gerif o1 ufRomet Siurd 1:1 81 S|
(A)O 4
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4

(B) O 5 (Correct Answer) (Chosen option)
5

Maninder Singh can finish a job in 32 days. He worked for 16 days alone and completed the
remaining job working with Manjeet, in 4 days. How many days would both together take to
complete the entire job?

TfeR R U &1 &1 32 ol § &R Javar 31 39 31l 16 o ao H1df fava SiR s gan &rd 4
fo=t o wofta & Ty quf fran) 39 A1 g1, Iquf o1 & qR1 v & e fpam 3t o1 g @i
(A)O 2

2
(B) O 8 (Correct Answer) (Chosen option)
©) O

(D) O

o0 ~ph 0

(C©)O 2
2
OO 3
3
Question No.10 Marks: 1.00
Bookmark
BNY company hires quality audit team of 8 is to be formed from 7 females and 9 males. In how
many ways can it be done when the quality audit team should consist of at least 6 females?
BNY &U-T 7 Afgamaf 3ik 9 Gosi & ¥ 8 Sfaqdl & Turad 3HifSe THg &1 T34 HRal ¢ | I Jora
3{ifSe T o H1 ¥ &1 6 Higad g1 A1fey, o I8 fhan adie! I fovan o Tawa 872
(A) O 265
265
(B) O 261 (Correct Answer) (Chosen option)
261
(C)O 267
267
(D) O 263
263
Question No.11 Marks: 1.00
Bookmark
Bhopal Express and Bidhan Express-two trains 210 m and 140 m long, run at the rate of 132
km/h and 120 km/h respectively on parallel rails. How long will it take a man sitting in the second
train to pass the first train if they run in the opposite direction?(in seconds)
HIoTel TRV 3fR faYT Tao-al ¢ 210 m 3R 140 m el §, St GHMIGR UeRal TR SHHRE: 132
km/h 3R 120 kvh B} 1 F Tt €1 T Ra R & Tadt €, o gl 39 § 9% e
gl ¢ B UR HRA & [T fobd=1 I8 T (Jebs H)
(A)O 2
2
B)O 5
5
(O 4
4
(D) O 3 (Correct Answer) (Chosen option)
3
Question No.12 Marks: 1.00
Bookmark
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Question No.13 Marks: 1.00
Bookmark
In what ratio must a grocer mix two varieties of sugar(A&B) costing Rs.24 and Rs.32 per kg
respectively so as to get a mixture worth Rs.27 per kg?
U® UORI §RT Rs.24 3R Rs.32 Ufd kg aTat & it &1 fordl (S5 A 3R B) & fory Srqard &
firamar ST anfeT fo e Rs. 27 Ul kg aTer fsor ure foan s 9 |
(A) O 35
3:5
(B) O 5:2
5:2
(C)O 25
2:5
(D) O 5:3 (Correct Answer) (Chosen option)
5:3

Question No.14 Marks: 1.00
Bookmark
In how many different ways can the letters of the word 'COURSE' be arranged in such a way that
the vowels always come together?
'COURSE' X6 & 31&RI P [ha SeRT-S(eRT aid! d 39 UPHR I Haryd fobdT off Habal § fob WR
U T 1Y 3M1T?
(A) O 142
142
(B) O 146
146
(C) O 144 (Correct Answer) (Chosen option)
144
(D) O 140
140

Question No.15 Marks: 1.00
Bookmark
Arun the owner of Darshita Electronics marks-up his goods by Rs.2200 now after allowing a
discount of 25%, he gains 30%. Find the cost price of the article.(in Rs)
a&ﬁgﬁaeﬂ%raa%mm 3T 37O FRGSHT R Rs.2200 IEfd G sifdrd fama SR 25% &1 ge
¥ qTa I 30% T ATH UTK faT| I T 8 e I B (Rs . H)
(A) O 3400
3400
(B) O 3000 (Correct Answer) (Chosen option)
3000
(C) O 3200
3200

(D) O 2800
2800

Question No.16 Marks: 1.00
Bookmark
Three numbers are in the ratio 11:12:13. The smallest number value is 297. Find the sum of the
smallest and the largest number.
T TR 11:12:13 & U | € | T BICT WA 297 8| T BT TS Ta TS T BT AT
A FifST|
(A) O 658
658
(B) O 648 (Correct Answer) (Chosen option)
648

(C)O 668
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668

(D) O 678
678

Question No.17 Marks: 1.00

Bookmark
Mayank Agarwal invested an amount under Simple interest which doubles itself in 1.5 years. In
how many years the amount will become 12 times of it?(in years)

TR SATd A YRV AT & dgd U AT b1 (a1 fosar ot o 1.5 91 I 319 3114 &1 QAT 81
TS| g A faq auf & 397 Sy Bt 12 T[T 81 s (@uf H)
(A) O 16.5 (Correct Answer) (Chosen option)

16.5

(B)O 175
17.5

(C)O 145
145

(D)O 155
15.5

Question No.18 Marks: 1.00

Bookmark
Wallmart has a sale of $11635, $11935, $11360%, $12310, $11460, $12710 and $11153 for 7
consecutive weeks. How much sale must wallmart have in the eighth week so that the average
sale reaches $12000?(in $)

IrarTe § 7 HHNTD Jwle! | $11635, $11935, $11360$, $12310, $11460, $12710 3R $11153 H
?&)‘T@?ﬁ%l IreHTe 7 3ad Iwrg H fha-t fawt gt =nfeu o sira farsst $12000 81 STU? ($
)
(A) O 13137
13137

(B) O 13337
13337

(C) O 13437 (Correct Answer) (Chosen option)
13437

(D) O 13237
13237

Question No.19 Marks: 1.00
Bookmark
Auto Kit House production runs 73 machines to create 73 Gear Levers in 73 mins. How many
machines are needed to make 103 Gear Levers in 103 minutes?
3ffel fre gred UrsarM, 73 fiFe &, 73 R iR & fmfor & feorg 73 0= s@rar 81 103 fome o
103 TR iR & fAmToT & forg foraeit a=f=i @ srawgerar grft?
(A)O 75
75
(B) O 73 (Correct Answer) (Chosen option)
73
(o 7
71

D)o 77
77

Question No.20 Marks: 1.00
Bookmark
Yuvaraj buys a second hand TVS Victor bike for Rs.7450 and spends Rs.610 on its repairs. If he
sells the same TVS Victor for Rs.9269, his gain percent is:
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RIS U gd Ugad TVS fdaex S18@ Rs.7450 H WRIGdl © 3R SH®! AR | Rs.610 Td Hdl
21 af¢ 98 3t TVS fadger Y Rs.9269 # o914l 8, df ST a4 Ufa=rd J1d i
(A) O 24
24
(B)O 18
18
(C) O 15 (Correct Answer) (Chosen option)
15

(D) O 21
21

Question No.21 Marks: 1.00
Bookmark
The difference between the interest earned on the same amount invested under compound
interest and simple interest at the same rate of interest for 2 years is Rs.296. If the rate of
interest is 8% p.a. then find the amount invested.(in Rs.)
2 Y & foTU ST ) THM &R W, Tehglea TS 3R ATYRUT TS & dIgd (A= BT TS JAM IR TR
3{fSTd =TT & &9 BT SR Rs.296 § | TG ST DI & 8% ATD @, ol A= BY 75 A1 1 P
(Rs. )
(A) O 45950
45950
(B) O 46150
46150
(C) © 46250 (Correct Answer) (Chosen option)
46250

(D) O 46050
46050

Question No.22 Marks: 1.00
Bookmark
Zidane and his assistant are paid a total of 1760 Euro per week by Real madrid. If Zidane gets
120% of the amount paid to his assistant, how much is the amount received by medical coach
who is paid only 42% of Zidane's assistant per week?(Euro)
1S 3R I9F TS oI FRgd AfSE §RT 1760 TR Ui TiTg &1 YFTd fava oirar g1 afe fore=
DI U TBTID H 120% 3Hes MR U Bt &, ol Ffored b 1 favat 11T UTed g, afg a8
ST & TBT® & Ui Twg YA &1 Had 42% U Hl 872
(A) O 338
338
(B) O 342
342
(C)O 340
340
(D) O 336 (Correct Answer) (Chosen option)
336

Question No.23 Marks: 1.00
Bookmark
The average of 13 observations of gas station is 112 units. In this the average of first three
observations is 101 and the next four observations is 104 units and the next five observations is
115 units. Find the last observation.(in units)
TR W=A & 13 Y&0n BT 3T 112 e & | TIH gl <1 D&l &7 379d 101 8 3R 3T IR
Dot 7 ST 104 e § 3R AT Ud el o7 ofird 115 81 3ifam deror 3/ ¥ 1 (gfe H)
(A) O 162 (Correct Answer) (Chosen option)
162

(B) O 161
161
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(C)O 163
163

(D) O 160
160

Question No.24 Marks: 1.00
Bookmark
Rs.16670 is invested partly in 14% stock at 84 and 13% stock at 78 to have equal amount of
income. The investment in 14% stock is:
Rs.16670 B! AP U F 84 WR 14% Wb B 3R 78 W 13% WIh B THM 3T U 3 & oy
e farar ST B1 14% T | Ao fd= g2
(A) O 8665
8665
(B) O 8445 (Chosen option)
8445
(C) O 8555
8555

(D) O 8335 (Correct Answer)
8335

Question No.25 Marks: 1.00
Bookmark
If company makes a profit of 15% by selling the mixture at Rs.20.7 per kg. How many kilogram
of Potassium Sulphate A costing Rs.21 per kg must be mixed with 126 kg of Potassium Sulphate
B costing Rs.16 per kg?(in kg)
g HU FIY0T 1 20.7 T U FHaAUTH TR SFdHR 15% BT A1 HAT 51 Rs.21 Ui T ot
N aTel ford= IR Tethe A &I ANTd Rs. 16 Wi fhai arel 126 kg UIeRH Tethe B &
ry forarn anfeu? (fbar )
(A) O 80
80

(B)O 78
78

(C) O 84 (Correct Answer) (Chosen option)
84

(D)O 82
82

GENERAL ENGLISH - GENERAL ENGLISH

Question No.1 Marks: 1.00
Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

He owns a Jeep acar.

(A) O since
(B) O by
(C) O according to

(D) © as well as (Correct Answer) (Chosen option)

Question No.2 Marks: 1.00
Bookmark
Choose the word which best expresses the similar meaning of the given word " ARTICULATE ".
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(A) O Comprehensible (Correct Answer) (Chosen option)
(B) O Amateur
(C) O Misrepresented

(D) O Continue

Question No.3 Marks: 1.00

Bookmark
Choose the one which can be substituted for the given word/sentence.

A brief or a short stay at a place.
(A) O Bellow

(B) O Oasis (Chosen option)
(C) O Sonnet

(D) O Sojourn (Correct Answer)

Question No.4 Marks: 1.00

Bookmark
Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if no
article is needed.

Rubin has terrible leg pain.

(A) O a (Correct Answer) (Chosen option)
(B) O an
(C) O the

(D) O No article

Question No.5 Marks: 1.00

Bookmark
Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if no
article is needed.

India needs a new consensus on its energy and economic transition for
sustainable future.

(A) O a(Correct Answer)
(B) O an
(C) O the (Chosen option)

(D) O No article
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Question No.6 Marks: 1.00

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

The river Ganges flows Uttar Pradesh.
(A) O against

(B) O asfaras

(C) O through (Correct Answer) (Chosen option)

(D) O owing to

Case Study -7to 9 3.00
Read the following passage and answer the questions that follow.

The Amazon rainforest, the largest of its kind in the world, is ablaze, with over 9,500 distinct fires burning
through its main basin since August 15. Overall, Brazil has seen more than 76,000 fires ravage the
Amazon in 2019, of which around 10,000 have been started in the past few weeks, mainly by loggers and
farmers seeking, as they do during the summer months, to clear vast tracts for agricultural or industrial
use. However, this annual exercise of planned deforestation appears to have crossed a tipping point this
year. There has been an increase of at least 80% in the number of recorded fires compared to the same
period in 2018, according to Brazil's National Institute for Space Research (INPE). This week, images of
darkening skies above Sao Paulo, more than 2,700 km away from the fires, went viral. The number and
intensity of the fires are closely linked to the rate of deforestation. Some reports estimate that in July 2019,
the Amazon shrunk by 1,345 sq km, up 39% from the same month last year, and a historical record. The
flames are not confined just to Brazil either. In neighbouring Bolivia, deadly blazes are devastating forests
and farmlands, so much so, that its President, Evo Morales, has put his re-election campaign on hold over
the weekend, and, unlike his Brazilian counterpart Jair Bolsonaro, was quick to welcome foreign aid to
help fight the fires.

The distinctly political undertones of the crisis in Brazil sets it apart. Mr. Bolsonaro’s critics say that his
economic and environmental policies have virtually set the stage for intensifying degradation of the
Amazon’s rich biodiversity. They argue that since he came to power this year, he has chipped away at the
protections that the rainforest enjoyed, including by weakening the environment ministry when he made
Ricardo Salles, found guilty of administrative improprieties for altering a map to benefit mining companies,
the Environment Minister; by driving away Norway and Germany, principal donors who have backed
protections for the Amazon; by sacking the head INPE over absurd allegations that he was disclosing
how rapidly Amazon deforestation was happening; and by attacking both environmental charities, alleging
without proof that they started fires to serve certain foreign interests, and indigenous Amazon dwellers.
Under intense global pressure, including from the ongoing G-7 meetings of world leaders, Mr. Bolsonaro,
a right-wing climate-change sceptic, appears to have relented to an extent, and has authorised 44,000
military troops to help with the firefighting efforts. Even if they succeed, and the Bolsonaro administration
ultimately bends to global outrage over the destruction of a critical global ecosystem, the discernible shift
in Brazilian public institutions responsible for guarding the future of the Amazon rainforest is a worrying
sign of worse things to come.

Question No.7 Marks: 1.00
Bookmark
Which one of the following most accurately summarizes the main point of the passage?

(A) O Brazil's Agriculture will be improved

(B) O Increasing Number of Fires are major threat to Amazon's rich Biodiversity
(Correct Answer)

(C) O Bolivia is helping more to control the situation

(D) O The fires can be viewed from some other major cities (Chosen option)
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Question No.8 Marks: 1.00

Bookmark
What is the contextual meaning of the highlighted word 'Sacking'?

(A) O Engage
(B) O Reserve
(C) O Dismiss (Correct Answer) (Chosen option)

(D) O Immerse

Question No.9 Marks: 1.00

Bookmark
Which is closely linked to the increase in intensity and number of fires?

(A) O Cooking inside the forest
(B) O Exponential increase in population
(C) O Rate of deforestation (Correct Answer)

(D) O All the above (Chosen option)

Question No.10 Marks: 1.00

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

Several cities have dramatically improved their air quality recent years.

(A) O in (Correct Answer) (Chosen option)
(B) O along
(C)O on

(D) O except

Question No.11 Marks: 1.00

Bookmark
Find the suitable antonym for the given word " ARTIFICE ".

(A) O Device
(B) O Scam
(C) O Hoax (Chosen option)

(D) O Honesty (Correct Answer)
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Question No.12

Choose the one which can be substituted for the given word/sentence.

An event causing sudden damage or suffering.

(A) O Catastrophe (Correct Answer) (Chosen option)
(B) O Nostalgia

(C) O Chronology

(D) O Ephemeral

Marks: 1.00
Bookmark

Question No.13

Choose the word which best expresses the similar meaning of the given word "
EQUIVOCATION ".

(A) O Honesty
(B) O uprightness
(C) © Ambiguity (Correct Answer) (Chosen option)

(D) O Certainty

Marks: 1.00
Bookmark

Question No.14

Choose the one which can be substituted for the given word/sentence.

An animal that lives in a group.

(A) O Odculist (Chosen option)

(B) O Horizon

(C) O Gregarious (Correct Answer)

(D) O Panacea

Marks: 1.00
Bookmark

Question No.15

Choose the word which best expresses the similar meaning of the given word " TIRADE ".

(A) O Calm
(B) © Complement
(C) O Abuse (Correct Answer) (Chosen option)

(D) O Peace

Marks: 1.00
Bookmark
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Question No.16 Marks: 1.00

Bookmark
Find the suitable antonym for the given word " CIRCUMLOCUTION ".

(A) O Tautology
(B) O Euphemism (Chosen option)
(C) O Directness (Correct Answer)

(D) O Wordiness

Question No.17 Marks: 1.00

Bookmark
Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if no
article is needed.

What about going to Londonin __ June?
(A)O a

(B) O an

(C) O the

(D) O No article (Correct Answer) (Chosen option)

Question No.18 Marks: 1.00

Bookmark
Choose the one which can be substituted for the given word/sentence.

A notice of a person’s death.

(A) O Axiom

(B) O Biopsy

(C) O Obituary (Correct Answer)

(D) O Bellow (Chosen option)

Question No.19 Marks: 1.00

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

| have been travelling Monday.
(A) O to
(B) O at
(C) O for

(D) O since (Correct Answer) (Chosen option)
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Question No.20 Marks: 1.00
Bookmark
Find the suitable antonym for the given word " ABATING ".
(A) O Extending (Correct Answer) (Chosen option)
(B) O Decreasing
(C) O Moderate
(D) O Dul
Question No.21 Marks: 1.00
Bookmark
Choose the word which best expresses the similar meaning of the given word " DESPISE ".
(A) O Small
(B) O Hate (Correct Answer)
(C) O Accept (Chosen option)
(D) O Adore
Question No.22 Marks: 1.00
Bookmark
Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if no
article is needed.
Ineed  English book.
(A) O a (Chosen option)
(B) O an (Correct Answer)
(C) O the
(D) O No article
Question No.23 Marks: 1.00
Bookmark
Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if no
article is needed.
The Taj Mahal is one of World’s wonder.
(A)O a
(B) O an
(C) O the (Correct Answer) (Chosen option)
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(D) O No article

Question No.24

Find the suitable antonym for the given word " SERVILE ".

(A) O Aggressive (Correct Answer)
(B) O Abject
(C) O Humble (Chosen option)

(D) O Passive

Marks: 1.00
Bookmark

Question No.25

Fill in the blanks with suitable Preposition from the given alternatives.
| am going to decorate my room the help of my friends.

(A) O across
(B) O with (Correct Answer) (Chosen option)
(C)O to

(D) O between

Marks: 1.00
Bookmark

GENERAL AWARENESS - GENERAL AWARENESS

Question No.1

T fafRy 3rafe #, SERet gR1 faHTieid <=1 1 o AT 31 I,
(A) O Per capita Income (Correct Answer) (Chosen option)
3
(B) O Stabilisation Measure
RR B Iur
(C) O Poverty Line
BRICIRSC]|
(D) O Statutory Liquidity Ratio
Hifafde T4l srgurd

Total National Income of a country divided by its population in a specific period is called

EaHESInIR

Marks: 1.00
Bookmark

Question No.2

Who is the first woman to conduct an orchestra at the Oscars 2020 Awards?
TEHR 2020 IR B HTHeT AT B aTelt Ugeht Higar & g2
(A) O Marin Alsop

TR Sy

(B) O Xian Zhgng
iRl

(C) O Eimear Noone (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark
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SR A

(D) O Jane Glover
EEENICH

Question No.3 Marks: 1.00

Bookmark
When did 'French Revolution' begin?

TR SHifer B YF3MTd Hd ga2
(A) O 1860
1860

(B) O 1789 (Correct Answer) (Chosen option)
1789

(C) O 1850
1850

(D) O 1810
1810

Question No.4 Marks: 1.00

Bookmark
Purvanchal hills are located in which place?

gafaat @t Ugifsar fod ®H R Ry 82

(A) O South East India (Chosen option)
Gférr-gd yRa

(B) O East West India
J4-Ufd| YRd

(C) O Eastern India
gdf YRd

(D) O North East India (Correct Answer)
IW-Yd URd

Question No.5 Marks: 1.00

Bookmark
Which state has launched the India’s first 'Cyber Crime Prevention Unit'?

YR B! T3 ISR HIeH rawH gie {6 =g A & 31 82
(A) O Punjab

USIC)
(B) O New Delhi

(C) O Maharashtra

HERTE

(D) O Gujarat (Correct Answer) (Chosen option)

Question No.6 Marks: 1.00

Bookmark
In tribal polity, the officer who enjoyed authority over a large land or pasture ground is called

ST ToToia®AT H, a8 SRl ford fordt St HfH a1 TRFIE WR 3{fYdR UId gIdT oI, 34
DT ST ATl
(A) O Bhashyams
ey

(B) O Vrajapati (Correct Answer) (Chosen option)
serafd

(C) O Sukthams
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JRHA
(D) O Upanishad
REIEL

~

Question No.7 Marks: 1.00
Bookmark
Who became the first woman to lead the Republic Day contlngent 20207

I g T ga 2020 HT A HRA aTell YYH Higdl B g2

(A) O Tania Shergill (Correct Answer) (Chosen option)
GUERIRKEL)

(B) O Mitali Madhumita
[EGIKIREPIERI

(C) O Ashwani Kumar
31y PR

(D) O Divya Ajith Kumar
faar smfld $UR

Question No.8 Marks: 1.00
Bookmark
When was the National Forest policy formed?
RERCERIREZNEEI T ACRIRICIK v
(A) O 1982 (Chosen option)
1982
(B) O 1986
1986
(C) O 1952 (Correct Answer)
1952
(D) O 1978
1978

Question No.9 Marks: 1.00
Bookmark
What is the full form of 'AlIB', a new multilateral financial institution?
U sgueity fadia TR wemdange &1 guf & u w1 g2
(A) O African Infrastructure Investment Bank
TIH FIRCTR raCHT aP
(B) O Asean Infrastructure Investment Bank
TR $IhReRR gache dh
(C) O Asian Infrastructure Investment Bank (Correct Answer) (Chosen option)
TR 33IPRCRR sacHe S
(D) O Asian Infrastructure Institutional Bank

TRITA 3THREFR SREERAA 9

Question No.10 Marks: 1.00
Bookmark

Who among the following was honoured with 29t Saraswati Samman?
fafifed Ssgued & ¥ fad 29 d Gx¥ad S 9 wwiAd foarn mar
(A) O Pavan Sukhdev

Uaq

(B) O Vasdev Mohi (Correct Answer) (Chosen option)

(C) O Chinthala Venkat Reddy
feiye dbe Vg
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(D) O Abhijit Vinayak Banerjee
ICRIREEE

Question No.11 Marks: 1.00
Bookmark
Which of the following productions refers to 'Pink Revolution' in Indian Economy?

YR srfeqawy & g & 9 foraant Iare- Tare! Hifar o dafiid Hdr g2
(A) O Agriculture

(B) O Milk
[

(C) O Onion (Correct Answer) (Chosen option)
Tt

(D) O Wool
[R5

Question No.12 Marks: 1.00
Bookmark
Which of the following taxes does not fall under 'Direct Tax'?
FEfiRed & 9§ H 91 HR 'TE B P AT ol AT
(A) O Expenditure Tax
oY
(B) O Wealth tax
Uy e
(C) O Income Tax
S Y
(D) O Goods and Services Tax (Correct Answer) (Chosen option)

9 W& JaT

Question No.13 Marks: 1.00
Bookmark
Recently, which country has been removed from the designation as “Currency manipulator® by
the treasury department of United States of America?

g?@@ﬁﬁ%ﬁwﬁmmm%mﬁ"%mm U ¥ B1d 81 | gal
T 87

(A) O Ireland (Correct Answer)
IRRAS

(B) O Japan (Chosen option)
ST

(C) O India
HRd

(D) O South Korea
afémor

Question No.14 Marks: 1.00
Bookmark
Who among the following has won the elections and became the Prime Minister of Malta?

frafafad o 9 fsem, gma St ofR AreeT & st §972
(A) O lan Borg

ERIE]
(B) O Chris Fearne

forg e

(C) O Joseph Muscat (Chosen option)
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SIh HIHT
(D) O Robert Abela (Correct Answer)
HECRC)]

Question No.15 Marks: 1.00

Bookmark
A process of fund registered in a country from outside the country is FIl. What is the full form of
'FII'?

freft 3 H 39 P TTeR A Uoliopd e B T UihaT UHSMEAE § 1 "UhaEans” o1 guf =0 &1 87

(A) O Foreigner Institutional Investment
(B) O Foreign Institution Investor
BRA SRREERA 3R
(C) O Foreign Institutional Investment (Chosen option)

(D) O Foreign Institutional Investor (Correct Answer)

g

Question No.16 Marks: 1.00

Bookmark
Who expressed the idea "Our position is not that truths are to be found in all religions, but all
established religions are true"?

fore a5 faar =aad fovan a1 ER@io a8 81 § fos w ot ol & ume 1 §, sfee et wifia
o T g1m?
(A) O Suniti Devi Sen
Gdl
(B) ©O Ram Mohan Roy
¥ HIg g
(C) O Debendranath Tagore (Chosen option)

SIS TR

(D) O Keshub Chandra Sen (Correct Answer)
&G T% A

Question No.17 Marks: 1.00

Bookmark
Who has won the Sir Garfield Sobers Trophy for Best Cricketer of the Year in ICC annual awards
2019?

mﬂﬁ}ﬁ?ﬁmwzowﬁﬂé%ﬁm?aﬁaW%mwm@wﬁﬁw
?

(A) O David Warner
Sfag arik

(B) O Ben Stokes (Correct Answer) (Chosen option)
CERUG |

(C) O Jos Buttler
S JCeR

(D) O Joe Root
Sl ¢

Question No.18 Marks: 1.00

Bookmark
The Simlipal National Park is located in which state?

ffAferarer It Ier fova sy 7 R 82
(A) O Maharashtra

HeRTY
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(B) O Odisha (Correct Answer)
Sifs=m
(C) O Gujarat
(D) © West Bengal (Chosen option)
TigH S
Question No.19 Marks: 1.00
Bookmark
Who among the following is called "Breaker of forts" in Rig-Veda?
frofofad & 9 i w1 § gif vieie et T 82
(A) O Indra (Correct Answer)
R
(B) O Varuna
Ul
(C) O Agni
3ff¥r
(D) O Aditi (Chosen option)
Question No.20 Marks: 1.00
Bookmark
Which state in India shares Maritime International border with Sri Lanka?
YR BT DI T 4, T & 1Y T SRIPT 1 Al Bl 82
(A) O Guijarat
(B) O Tamil Nadu (Correct Answer) (Chosen option)
(C) O Andhra Pradesh
38 TR
(D) O Kerala
Question No.21 Marks: 1.00
Bookmark
What is the full form of 'ECGC', a government agency in insurance support to Indian exporters?
YR Fraias! &1 §THT TeTal § T ISR TRIT SHreiT &1 guf &1 &1 52
(A) O Export Control Guarantee Corporatlon of India
el MRS HRURT 31t 3fgar
(B) O Export Commission Guarantee Corporation of India
HHIRH TR SRURTA 1t Sfear
(C) O Export Credit Guarantee Corporatlon of India (Correct Answer) (Chosen option)
$iSe TRE HRUNA AT Sfar
(D) O Export Credit Guarantee Central of India
Question No.22 Marks: 1.00
Bookmark
Indian legendary, Bapu Nadkarni recently passed away. He belongs to which field?
YRR femTS, S1Y TS 0N &1 8Td g & Fed 81 Tl d {59 & 9 Teiferd g2
(A) O Law
DI
(B) O Sports (Correct Answer) (Chosen option)
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wd
(C) O Politics
NEEIIR]

(D) O Cinema
R

Question No.23 Marks: 1.00

Bookmark
The fiscal and monetary measures adopted to control fluctuations in the balance of payments
and hlgh rate of inflation is known as

;fgﬂ Wﬁﬁﬁaﬁwwaﬁmwwﬁuwww
Hifge Iur &l P T H ST o1 2

(A) O Social Security
AT GRET
(B) O Permit License
EESISIES]
(C) O Stabilisation Measures (Correct Answer) (Chosen option)
SUra

(D) O Quantitative Restrictions
AETHSD Ufdsy

Question No.24 Marks: 1.00

Bookmark
Which of the following states does not share International border with Bangladesh?

Foffed & 9 1 91 Is0 IR F 1 SaRIPT FHT 131 el HRar?
(A) O Assam
3 gH

(B) O Mizoram

(C) O Meghalaya
eI

(D) O Sikkim (Correct Answer) (Chosen option)

Question No.25 Marks: 1.00

Bookmark
Where is Kanha National Park located?

HTE1 AP S el (U 32
(A) O Kerala
B

(B) O Uttar Pradesh
JWR UG
(C) O Madhya Pradesh (Correct Answer) (Chosen option)

Heg Ua=T

(D) O Maharashtra

MECHANICAL ENGINEERING - MECHANICAL ENGINEERING

Question No.1 Marks: 1.00

Bookmark
The reciprocating compressor can be used for

YT GHeH PISUENT 3 fog fpar o Weba 21
(A) O high discharge and low pressure
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I fdg ok i a9

(B) O high discharge and high pressure
I Fdg ok I a1

(C) O low discharge and high pressure (Correct Answer) (Chosen option)
f ffdga siR S= e

(D) O low discharge and low pressure

A9 fAdeT ok g Tw

Question No.2 Marks: 1.00
Bookmark
The product of Grashoff number and Prandtl number is termed as
T TR 3R Uiger YT P UM B SIS
(A) O Reynolds number
B

(B) O Peclet number (Chosen option)
=
(C) O Fourier number
BRI F-T
(D) O Rayleigh number (Correct Answer)
Fkires)

Question No.3 Marks: 1.00
Bookmark
A solid circular shaft is subjected to bending moment of 3000N and a torsion of 10,000N-m. The
equivalent bending moment would be

Waﬁmﬂa@gﬂww 3000N ¥ ST ST R 10,000N-m 3 RIS ¥ 31efi 3| Gt st et
|

(A) O 5920 N-m
5920 N-m

(B) O 10440 N-m
10440 N-m

(C) O 6600 N-m
6600 N-m

(D) © 6720 N-m (Correct Answer) (Chosen option)
6720 N-m

Question No.4 Marks: 1.00
Bookmark
A simply supported beam of length 9 m carrying a uniformly distributed load of 10 kN/m for a
distance of 6 m from the left end. The bending moment acting on the beam at 6 m from its left
end is

a1 R 6 m 1 &8 3 1T 10 kN/m 3 THF w4 I RIaRe YR ST 967 $ 9161 9 m e T
ST RA g1 A R I RR Y 6 m B g8 W foram=fia s imguf Euil

(A) O 80 kNm
80 kNm

(B) O 120 kNm
120 kNm

(C) © 60 kNm (Correct Answer) (Chosen option)
60 kNm

(D) O 40 kNm
40 kNm

Question No.5 Marks: 1.00
Bookmark
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Two shafts, one hollow and the other solid made of same material and having same outside
diameter. The inner diameter of the hollow shaft is half the outside diameter. The ratio of torque
that can be transmitted by these two shafts is

T & gerd A 57 GHH STe I AT &) W, T TRad 3R U 31 2| TRaa ATue b1 Siaike
%qmm,a@wmm&nm%sqammwﬁﬁmmWa@&mm&ﬁm
|
(A) O 413
4/3

(B) O 16/15
16/15

(C)O 3/4
3/4

(D) O 15/16 (Correct Answer) (Chosen option)
15/16

Question No.6 Marks: 1.00
Bookmark
A heat engine is provided with a heat input of 1800 kJ/min and the output from the engine is 9
kW. Thermal efficiency of the engine is
T 10 S5 & 1800 kJ/min T ST 1 TG Fpal STl & 1R $or & @rarar it @ kw 1
<O P 10T CerT g
(A) O 66.66%
66.66%
(B) O 30% (Correct Answer) (Chosen option)
30%
(C) O 70%
70%
(D) O 33.33%
33.33%

Question No.7 Marks: 1.00
Bookmark
A hydraulic press has a ram of 30 cm diameter and plunger of 3 cm diameter. Find the weight
lifted by the hydraulic press when the force applied at the plunger is 500N.
T BIESITAd O H 30 cm S 1 X8 3R 3 cm T &1 WoR g1 IfG WoR TR AR d 500N g,
TR SIferd U §RT I3 T HR J1d $Y |
(A) O 50 kN (Correct Answer) (Chosen option)
50 kN
(B) O 20kN
20 kN
(C) O 40kN
40 kN

(D) O 30kN
30 kN

Question No.8 Marks: 1.00

Bookmark
A control chart that makes use of poisson distribution is

_ ggfigEu e @ e o o s sw@m ear gl
(A) O p-chart (Chosen option)
p-aTE
(B) O x-bar chart
x-gR =T
(C) ©O R-chart
R-dTC
(D) O c-chart (Correct Answer)
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c-are

Question No.9 Marks: 1.00
Bookmark

Examples of metals that crystallize in BCC, FCC & Close-packed Hexagonal, respectively are
iR, Tl ofiR e e ity # frecird g aralt argaft & IaTeRul HHe:
gl

(A) O Alphairon, Zinc & delta iron
SHTPT 3RA, TS 3R SeeT SR
(B) © Gamma iron, Nickel & Zinc
T 3ERA, A 3R i
(C) O Alphairon, delta iron & Zinc
STPHT SHTRA, ST SR 3R i
(D) O Alpha iron, gamma iron & Zinc (Correct Answer) (Chosen option)
EHT TR, TTHT TR 3R i

Question No.10 Marks: 1.00
Bookmark

For a fixed end of a long column, .

T dd DlaH & R RR & farg, |

(A) O The deflection and the slope is zero (Correct Answer) (Chosen option)
fadraur & yquran I €1 @

(B) O The deflection is zero, but the slope is minimum
féroor = BiaT ?, TR WA geAaH gt 8

(C) O The deflection is maximum, but the slope is zero
fagroor siféeem gidr 8, TR Jaurd I gl 8

(D) O The deflection is zero, but the slope is maximum

faagor 3= 8T 8, TR Yaurr sifiedd gt 8

Question No.11 Marks: 1.00
Bookmark

The following data is given, Brake power is 80 kW, Frictional power is 20 kW, then the
mechanical efficiency is
PR Ser foar mar 2, 3% =T 80 kW 2, 0T T 20 kW 2, 1 aifi e Gl
(A) O 60 percent

60 Tfda=Td
(B) O 80 percent (Correct Answer) (Chosen option)

80

(C) O 100 percent
100 Ufa=Td

(D) O 40 percent
40 gfcr=rd

Question No.12 Marks: 1.00
Bookmark

To achieve robust performance, the objective functions must capture performance of

wmmw@m IR UBTl Bl % YT BT TG AT A1y
(A) O both control and noise factors (Correct Answer)

fori=ror PR 3R Tais!

(B) O controllable factors only (Chosen option)

O
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(C) All variable factors
Gt TR BRI
(D) O noise factors only
&Had dichl
Question No.13 Marks: 1.00
Bookmark
G codes are used for creating CNC programs to control CNC machines. G 17 refers to
G I BT ITANT JTTAi 1= &t Fafd v 3 fo St v 991 & fou frar s g 1 6
17 DI Hefid Bl g
(A) O inputin mm
mm ® Fa=r
(B) O selection of XY plane (Correct Answer) (Chosen option)
XY dd bl IJaq
(C) O selection of YZ plane
YZ dd &l 994
(D) O selection of XZ plane
XZ dd &1 994
Question No.14 Marks: 1.00
Bookmark
Coefficient of velocity (Cv) is defined as the ratio between
FH UG (C)F U I &Y F GRS fpar o 81
(A) O Theoretlcal velocity of jet at vena contracta to Area of jet at vena contracta
TR (A1 Biedel) W O & JGidd I BT S TGAT (37 Dledel) R O b
EHW kil
(B) O Actual velocity of jet at vena contracta & Ideal velocity of the jet (Correct Answer)
(Chosen option)
Sie WIEHET (AT Plcdel) R 9 & aRafd® a7 3R e & 3mesf 3 $t §i=
(C) O Area of jet at vena contracta to the actual velocity
S T (AHT Bigael) R A & AAhd B dRdfdd o d
(D) O Theoretical velocity of jet at vena contracta to the actual velocity
S TR (31 Pi<aeT) TR O P AGiTdd 371 BT IRA1dD AT 4
Question No.15 Marks: 1.00
Bookmark
In a Journal bearing, the diameter of the journal is 0.2 m, its speed is 1000 rpm and the load on
the bearing is 53 kN. Considering coefficient of friction is 0.0072, the heat generated will be
nearly:
U S-d SURT H, SHd &1 M 0.2 m §, 39! T1d 1000 rpm § 3R SURT TR HR 53 kN &1 I901
T[T B1 0.0072 HH®BR, ATHT fha-T ST Iad gHiT?
(A) O 2kW
2kW
(B) O 4kW (Correct Answer) (Chosen option)
4kW
(C) O 3kW
3kw
(D) O 1kW
1kW
Question No.16 Marks: 1.00
Bookmark
The following data is given, module of the gear is 4 mm, number of teeth in gear and pinion is 24
and 12 respectively, what is the centre distance?
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T a1 37 S9 UPR B, R &1 Afegd 4 mm &, IR SiR fufa= & gidl ! 9@ Rl 24 3R
12 8, $% g R 8?2
(A) O 36 mm

36 mm

(B) O 72 mm (Correct Answer) (Chosen option)
72 mm

(C)O 18 mm
18 mm

(D) O 144 mm
144 mm

Question No.17 Marks: 1.00

Bookmark
A framed structure of a triangular shape is

TS YR agad TRa-T gtz
(A) O redundant
3ffaRed

(B) O deficient
3t

(C) O imperfect

(D) O perfect (Correct Answer) (Chosen option)

Question No.18 Marks: 1.00

Bookmark
The torsional rigidity of a shaft is the torque required to .

T& XM &1 5 FoRAT, A & o smavaes simeef gt 31
(A) O produce maximum twist

SHfIHTH A (fg¥e) &1 IareA

(B) O produce maximum shear stress
S{fYHIH SURSYUT YfcTeel BT JedTa

(C) O produce unit twist at unit length (Correct Answer) (Chosen option)
SHIE AaTs W P18 AT (fgve) &1 Idred

(D) O produce zero twist

I A (fg¥e) &1 3dTe

Question No.19 Marks: 1.00

Bookmark
Which of the following machines uses flywheel?

fofefad § ¥ oF It 7= nfaurds % BT ST Bt 82
(A) O Milling machine
fafeRT Aeia

(B) O Drilling machine
1 HRiH
(C) O Punching machine (Correct Answer) (Chosen option)

(D) O Broaching machine
EIEUERIE]

Question No.20 Marks: 1.00

Bookmark
Which one of the following milling operations is used to produce gears?
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fafoRaa & 4 fou ffci v &1 IuanT R Iad w3 o fog e Sirr g2
(A) O Slot milling (Chosen option)

Tdic e
(B) O Face milling

by e

(C) O Form milling (Correct Answer)

(D) O Slab milling

Question No.21 Marks: 1.00

Bookmark
The four bar mechanism in which the shortest link is fixed is termed as

I8 IGES TATI RS Wl Bt yEeT e BE, weadiml
(A) O c_ompognd mechanism
RECH]

(B) O double rocker mechanism

fg Iz daTach

(C) O crank rocker mechanism
S bR T

(D) O Double crank mechanism (Correct Answer) (Chosen option)

Question No.22 Marks: 1.00

Bookmark
The cycle which can be used in gas turbine is

Y TxaTe § b b 1 IUANT o S 6ahall 2
(A) O Lenoir cycle
EEY
(B) O Carnot cycle
EEd
(C) O Brayton cycle (Correct Answer) (Chosen option)
ash

(D) O Diesel cycle

e sk

Question No.23 Marks: 1.00

Bookmark
In throttling calorimeter, the thermodynamic process used to throttle the wet steam is

UTCRIT SANHICR #, 3T HIT T STRYY e F Rre ST 81 oI arel) s
(YIS Hcha, g
(A) O constant volume process

fRR 3mad= ufsan

(B) O constant enthalpy process (Correct Answer) (Chosen option)
R ardi enfar wfssan

(C) O process with constant specific heat

fRR fafry arg areft ufshar

(D) O constant entropy process

AR T ufehan

~

Question No.24 Marks: 1.00
Bookmark
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Gear-tooth thickness and its profile are measured using and respectively.
R-gy &t HieTE 3R SUS! MBIEd & HH: 3R BT FUTANT BB AT
ST B
(A) O vernier calliper, mircometer
HIAR, AZHIHIC
(B) O gear-tooth caliper, micrometer (Correct Answer)
frr-gy e,
(C) O mircometer, dial indicator
HISHIHICR, S SiSbeR
(D) O micrometer, gear-tooth calliper (Chosen option)

g HeR, fR-gy SR

Question No.25 Marks: 1.00

Bookmark
In Industrial Engineering, 'MRP" is

SN SenanT & 'MRP' gl
(A) O Major Requirement Processing
(B) O Materials Requirement Planning (Correct Answer) (Chosen option)

(C) O Maximum Resource Planning

(D) O Maximum Retail Price
Red ursq

Question No.26 Marks: 1.00

Bookmark
At the neutral axis of the beam, the layers

¥R & TR 3& W, W |
(A) O are subjected to compression
Guite & 31efiF Bl §

(B) O are subjected to tension

1d & 3HefiF gt §
(C) O do not undergo any strai_n (Correct Answer) (Chosen option)
ot fapfar & 181 ot

(D) O are subjected to maximum bending stress

RIpaH s Uidad & 3refi gt &

Question No.27 Marks: 1.00

Bookmark
used for producing non-symmetrical small castings having intricate details.

BT ST AT Bt SR 991 & e fovar Srar 8 o wifed faaror gid g1
(A) O Squeeze casting
WISl BT

(B) O Slush casting
. .

(C) O Centrifuging casting (Correct Answer)
HETIIRS BT

(D) O Die casting (Chosen option)
PIRET

Question No.28 Marks: 1.00

Bookmark
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Which property is suitable for refrigerants?

TRt S & forT I T 07 IUYH 82
(A) O Low critical temperature
1 wifds aM
(B) O Low thermal conductivity
5 o1 aradar
(C) O Low latent heat
4% e S
(D) O Low specific volume (Correct Answer) (Chosen option)

g Al smaa=

Question No.29 Marks: 1.00

Bookmark
is the energy per unit volume which can be absorbed by the material without
permanent deformation.

3 Ufd SPT8 AT B SHoll & o RIS ey & fo1 Inmeft gR1 Sraxnfyd far o debdt
|
(A) O Modulus of elasticity (Chosen option)

UTRIT AT

(B) O Toughness
HART

(C) O Modulus of resilience (Correct Answer)
-l ATUi®
(D) O Ductility
a=adr1

Question No.30 Marks: 1.00
Bookmark
In which year Heinrich presented basic concept of Industrial Safety?
IR A [ ¥ H SR YREM BT JA SGURUN Ugd 1 2
(A) O 1933
1933

(B) O 1936 (Chosen option)
1936

(C) O 1931 (Correct Answer)
1931

(D) O 1938
1938

Question No.31 Marks: 1.00

Bookmark
The Lami’s Theorem is applicable only for force system.

AT BT UHT Had § YoMl & forg @ g B

(A) O Coplanar and concurrent (Correct Answer) (Chosen option)

(B) O Non-coplanar and Non-concurrent

(C) O Coplanar and non-concurrent
Trday SR TR-gHad!

(D) O Non-coplanar and concurrent

TR-g9deT 3R g9l

Question No.32 Marks: 1.00
Bookmark
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A sudden jump at a section in the shear force diagram of a beamis causedby _

TH ¢RA P AR §¢ 3G H Th TS W AHRHP IHR, FIRUSA Sl
(A) O Uniformly distributed load on the beam
¢ R FHM ¥ I faalkd 4R

(B) O Couple acting at that point
39 foig R HRRA g

(C) O Concentrated load at the point (Correct Answer) (Chosen option)
fig W Hfea ur

(D) O Uniformly varying load on the beam
2R TR A ¥ J GRTd UR

Question No.33 Marks: 1.00

Bookmark
What is the correct order of the development of the following?
1) Numerical control
2) Computer numerical control
3) Direct numerical control
4) Distributed numerical control
et & faema &1 98 H9 J1 82
1) SATHS =
2) R FATHSD AT
3) A& YATHD =0
4) faafva Terds g
(A) O

Q

>

o
-

B) O

Ww NN NNOOOJ

2E2n gt

N

4 (Correct Answer) (Chosen option)

H

€O

(D) O

4,
4,
1
1
4
4
1
1

Question No.34 Marks: 1.00

Bookmark
Select the full form of ERP in Business Management.

Fa et H S3RUT &1 guf =0 @@r gim?
(A) O Enterprise Resource Planning (Correct Answer) (Chosen option)
(B) O Empower Recovery Providers
TR Rpad vassy
(C) O Energy Recovery Promotion

(D) O Engineering Resource Planning

BGIASIED

Question No.35 Marks: 1.00

Bookmark
Which of the following statements is False, in case of centre of pressure of a submerged vertical
circular plate from free surface of the liquid?

TR b T 8 J ST iR TMebR W & a1 g b g 7 75 T Y B 91 HU 3 82
(A) O Position of the centre of pressure is calculated by using the principle of moments
9 & Bg B (U B TUMHT 30} & RAIGHd BT SUINT dXb DI oIl §

(B) O Position of the centre of pressure lies below the centre of gravity of vertical surface

IE & B3 B AR SR JY F a0 & g & 119 RE Bt 8
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(C) O Position of the centre of pressure is directly proportional to h from free surface of the
liquid
aE b Pz 3! R RA P god 8 A FarE $ A gorurfas et g

(D) O Position of the centre of pressure is directly proportional to the density of the
liquid (Correct Answer) (Chosen option)

39 P B P UM A & 77 & N gorguias adt 2

Question No.36 Marks: 1.00
Bookmark

Select the most sophisticated successful forecasting model.
T URSpd I GargA Ared &1 99+ oY |
(A) O Time series analysis
AT gRger faeiyor
(B) O Qualitative Technique (Chosen option)
TOITHD
(C) O Statistical forecasting
HiRsT 1 gafga™
(D) O Causal model (Correct Answer)
HRUTAD fezt

Question No.37 Marks: 1.00
Bookmark

In a single point cutting tool, the point where the side cutting edge and end cutting edge
intersects is called

Tl g - SUHRUT A, T8 fe agﬁgaaméao—c&rﬁ? (12T BT TS) 3R 3 B BR (IS BT
T) e 3 g, HEA g

(A) O nose (Correct Answer) (Chosen option)
(B) O heel

(C) O neck
ECa

(D) O face
L]

Question No.38 Marks: 1.00
Bookmark

Which one of the following is not an input of material requirement planning (MRP)?
fafafed & o9 91 Il sraxgedr aisHT (MRP) &1 3w 78t 82
(A) O Bill of materials
I & ford
(B) O Order release (Correct Answer) (Chosen option)
TSR WY
(C) O Leadtime
STUAT DIt
(D) O Master schedule

HRER S

Question No.39 Marks: 1.00
Bookmark

If a fluid jet discharging from a 50 mm diameter orifice has a 40 mm diameter at its vena
contracta, then its coefficient of contraction will be

Tfe 50 mmW%%‘;ﬁﬁwaﬁﬁmﬁg@)@Eﬁ @Ewm(amm%aa)mm mm ST
g AU UPTABIOIH
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(A) O 1.56
1.56
(B) O 0.52
0.52
(C) O 0.32
0.32

(D) O 0.64 (Correct Answer) (Chosen option)
0.64

Question No.40 Marks: 1.00

Bookmark
Which one of the following is an additive manufacturing process?

fFafafad & 3 o1 @, v dey i ufsar g2
(A) O Electric discharge machining
faggdia Fde TR gafdcs fewams a=hif)
(B) O Selective Laser Sintering (Correct Answer) (Chosen option)
ITHSD AR Riervr (FAdfaea dawr Riefam
(C) O Electro-magnetic forming
fIggd-da g SR (Saaciife s W)
(D) O Water jet cutting
A SE HeH (dTeR SIc Bl

Question No.41 Marks: 1.00

Bookmark
A nitrogen atom shares the electrons with the 3 hydrogen atoms to form ammonia is an example
bond.

of
T & fAufor & fog, U ATgIe 310, 3 §TES o AU & TTY SATSI-! o TIeN BT &, S
Y HT U IR0 ]
(A) O Metallic
eTfds

(B) O lonic
(C) O Van der Waals forces

o S I 94
(D) O Covalent (Correct Answer) (Chosen option)

Question No.42 Marks: 1.00

Bookmark
Navier Stoke’s equation represents the conservation of

AR Wieg T, % TR BT FRFUN PRAT S|
(A) O pressure
e

(B) O energy
S|

(C) O mass
SIHT

(D) © momentum (Correct Answer) (Chosen option)

Question No.43 Marks: 1.00

Bookmark
What is the value of reflectivity in an opaque body, when absorptivity is 0.4?

S GBI 0.4 Bl 3, A T 3RS fifs & wradear &1 A 1 giar 82
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(A) O 0.6 (Correct Answer) (Chosen option)
0.6

B) O 1
(C)O 04

0.4
D)o 0
0

Question No.44 Marks: 1.00
Bookmark
The specific speed of a pump is 25 and rated capacity of the pump is 0.16 m3/s. Find head
developed by the pump at 800 RPM.
4y o1 fafRry 71 25 ® iR 4u o1 fReifka R¢s) &WdT 0.16 m3/s 81 800 RPM TR UU gRT fdsRia
EEICER
(A) O 128m
12.8 m

(B) O 25.6 m (Chosen option)
256 m

(C)O 59.88 m
59.88 m

(D) O 29.94 m (Correct Answer)
29.94 m

Question No.45 Marks: 1.00

Bookmark
What is the ISO standard with year of approval for OHS management system?

eauy yeeH Yue & forg SfgHIgT & 98 & 1Y SEuHSH HHS &1 572

(A) O 1S0 45001 : 2018 (Correct Answer)
ISO 45001 : 2018

(B) O 1SO 45003 : 20116
ISO 45003 : 20116

(C) O 1S0 45005 : 2014 (Chosen option)
ISO 45005 : 2014

(D) O 1SO 45002 : 2017
ISO 45002 : 2017

Question No.46 Marks: 1.00
Bookmark
The air standard cycles which consist of two isothermal process and two isentropic process:

DI Y I AHS Th (A3 T &l THAIg Ufshar 3R & JHu=eTd Ufshar Jnfie gt 872
(A) O Diesel cycle
SSEEED
(B) O Carnot cycle (Correct Answer) (Chosen option)
ash

(C) O Ericsson cycle
TR =sh

(D) O Otto cycle
3fICl <Ish

Question No.47 Marks: 1.00

Bookmark
Burrheight ~ with increasing clearance and ductility of the sheet metal.

1} YT P Ted BT (ENTI) AR a1 P 1Y 58 FArd |
(A) O not influenced
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3UHId et §

(B) O firstincreases and then decrease (Chosen option)

U sgd & 3IR i vedl §

(C) O increases (Correct Answer)

(D) O decreases
Y A g

Question No.48 Marks: 1.00

Bookmark
Economic order quantity is the quantity at which the cost of carrying is

THYS SIS HEAT 98 7T 8 5 R I@-3919 arTd gt gl
(A) O maximum

(B) O minimum
qAdH

(C) O Less than the cost of ordering
3{TER XA BT AR A HH

(D) O Equal to the cost of ordering (Correct Answer) (Chosen option)

3TSX B $I ANTd & JHH

Question No.49 Marks: 1.00

Bookmark
A man is pulling a bucket of water up to the roof of a building of 6 m height. The total weight of
the rope is 20 N and the weight of the bucket with water is 100 N. The work done by the man is

T 1 6 m ST B AR &) el dob U &) T STed e @7 21 T BT A UR 20 N E AR
UMt T Sl PTHR 100N gl Tfed gRIfpar e B
(A) O 300 N-m
300 N-m
(8) O 600 N-m
600 N-m
(C) O 360 N-m
360 N-m

(D) O 660 N-m (Correct Answer) (Chosen option)
660 N-m

Question No.50 Marks: 1.00

Bookmark
Compute the limit dimensions for a clearance fit on the hole basis system, for a basic size of 40
mm diameter, with a minimum clearance of 0.05 mm; with the tolerance on the hole being 0.021
and the tolerance on the shaft being 0.15 mm.
0.05 mm o GdH 3(aehIRI(RITaH) P HTY, 40 mm ST &b T 3HTHR b oY, &% MUR Jormell iR

ﬁﬁgﬁ%%@ﬂmmaﬁmﬁ el fo% IR iRWdr 0.021 3R WM R AfRFWAT 0.15
mm o |
(A) O 0.171 mm

0.171 mm

(B) O 0.121 mm
0.121 mm

(C) O 0.200 mm
0.200 mm

(D) O 0.221 mm (Correct Answer) (Chosen option)
0.221 mm

Question No.51 Marks: 1.00
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Bookmark
In a derive, the relevant parameters are volume flow rate (V), density (p), viscosity (u), bulk
modulus(K), pressure difference(P), power consumption(E), rotational speed (w) and
characteristic dimension (D). Using the Buckingham's p-theorem, find the number of
independent non-dimensional groups.
Ueh g (fER15) H, UrifiTes Yrerel, S Uale &R (V), B (p), [T (), Ul AU (K),
QSR (P), il o1 WU (E), wﬁnﬁr (w) 3R fafRryar 3mam (D) §1 sfbaw & N-udg 1 IughT
HRd gU, Wi TR-AArH ﬂqs‘r AT J1d B
(A) O

(B) O

(D) O

1
1
7
7
(€O 2
2
5 (Correct Answer) (Chosen option)
5

Question No.52 Marks: 1.00

Bookmark
A flywheel of mass 6000 kg starts from rest, and gets up a speed of 20 rad/s in 2 minutes. The
radius of gyration of the wheel is 100 cm. The average torque exerted on the wheel is

6000 kg SHHI &1 e TTUTEe T (FTEa) @TW@W‘«&F@W% 3R 2 fare # 20
ggésﬁnﬁwm%law%&m@ﬁaﬁﬁwmmm%awwm 3ot
|
(A) © 1000 Nm (Correct Answer)
1000 Nm

(B) O 750 Nm
750 Nm

(C) O 500 Nm (Chosen option)
500 Nm

(D) O 2000 Nm
2000 Nm

Question No.53 Marks: 1.00

Bookmark
Data mining is a process used for

3T T (AR, % foIQ TNt 1 S arelt U ufshan g1
(A) O detecting patterns in large volume of operational data (Correct Answer) (Chosen
option)

IS AT uRETe 21 & Ue &1 udT e

(B) O designing of database tables
Scray drferaTadl &t fewrg i

(C) O database administration
STy IR

(D) O programing databases

Question No.54 Marks: 1.00

Bookmark
The thermal efficiency of the dual combustion cycle depends on

GIE T8 9% B ST Gafdl R AR S gl

(A) O Only pressure ratio and cutoff ratio
Fad aId 3UTd 3R fawe (@esiith) s

(B) O compression ratio, cutoff ratio and pressure ratio together (Correct Answer)
(Chosen option)
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Y U A HUis 3guTd, fassg (@esiiv) rurd iR 1§ 3gurd
(C) O Only Compression ratio

hHad Ydted T
(D) © Only Compression ratio and cutoff ratio

Had Uite U 3R fawe (Hesii®) 3rua

Question No.55 Marks: 1.00

Bookmark
In a wire-cut EDM process, a successful cut is made when:
IR FIC (ARR-HC) SSIUH Ufhdl H, Th e, Yhadydd a9 §-dl § o
(A) O wire and workpiece are conductive materials (Correct Answer) (Chosen option)

R SR & et uard g

(B) O wire and workpiece are non conductive materials

IR 3R b sy uerd g

(C) O wire is non conductive and workpiece is conductive material

IR DT 3R THUT T Uerd gt

(D) O wire is conductive and workpiece is non conductive material

IR DT 3R ThUT DT uerd g

Question No.56 Marks: 1.00

Bookmark
The condition to be satisfied in lumped heat transfer analysis is:

fifea aru gxaiaror favayor & ford (U &t sra=aerdrsnt & @1 foban S =rfge?
(A) O Large value of prandtl number
Uigd T BT 951 A
(B) O Large value of biot number
S YAT DT FST HIH
(C) O Infinite thermal conductivity (Correct Answer) (Chosen option)
3id ATt araddr
(D) O Zero thermal conductivity
[ AU Areidhal

Question No.57 Marks: 1.00

Bookmark
The ratio of shear stress to corresponding shear strain is called as

ORI Ffae o Ul SO0 fadid & SigaTd &I HET STl ¢
(A) O Modulus_of rigidity (Correct Answer) (Chosen option)
Tedl HIUTh
(B) O Young modulus
BURSICOSRNEGIIED)
(C) O Bulk modulus
b HISgd (HIUih)
(D) O Modulus of elasticity
TR HIS[eY (HTUieh)

Question No.58 Marks: 1.00

Bookmark
A turbine develops 9000 kW when running at 100 rpm. The head on the turbine is 25 m. If the
head on the turbine is reduced to 16 m. Determine the speed.
100 rpm TR o R T G131 9000 kwmm%l TWERIWRES 25 m %I g TRERA W
8€ 16 m a% HY g1 oI1dl 5, al T Feiid H |
(A) O 84 rpm
84 rpm
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(B) O 87 rpm
87 rpm
(C) O 80 rpm (Correct Answer) (Chosen option)
80 rpm
(D) O 90 rpm
90 rpm
Question No.59 Marks: 1.00
Bookmark
The number of joints must be equal to for a perfect frame with 5 members.
5 5! aTdl Th YUl old o forE Siis| (Sige) &I AT & SRR g1 A6
A)O 3
3
(B) O 4 (Correct Answer)
4
(C) O 6 (Chosen option)
6
D)O 7
7
Question No.60 Marks: 1.00
Bookmark
A cantilever beam of 3 m is carrying a point load of unknown mass and produce a slope at the
free end as 0.01 rad. The deflection at the free end is .
3 m &1 U U R 3T SHH HT U YR I8 HR 361 ¢ 3R 0.01 rad F €T H Jad BR R
JaUdT I BT ¢ | Gad BR W fagmur g
(A) O 15mm
15 mm
B) O 10 mm
10 mm
(C) O 20 mm (Correct Answer) (Chosen option)
20 mm
(D) O 5mm
5mm
Question No.61 Marks: 1.00
Bookmark
If the annual demand of an item becomes half, ordering cost double, holding cost one-fourth and
the unit cost twice, than what is the ratio of the new EOQ and earlier EOQ?
g Tt avq ot a1ffes |t 3neht 81 St B, 31T H-A &Y AN G, @ &I AT Uh-hUTS 3R
THTs ANTA ST 81 Offclt 8, af 1Y EOQ 3R gd EOQ & 3UTd &1 §1TT?
A)O 1/2
1/2
(B) O 2 (Correct Answer)
2
(C)O 112
1N2
(D) O 2 (Chosen option)
V2
Question No.62 Marks: 1.00
Bookmark
The thermodynamic process in which the heat energy supplied is used to increase the internal
energy:
98 SN Ufshan § s Syfef 1 S arelt S Sl ST SUAnT Siiale el
o1 g & for farar ST 81
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(A) O Isobaric process
gHald Yo H
(B) O lIsentropic process
C UhH
(C) O Isothermal process
HHAY UshH
(D) O Isochoric process (Correct Answer) (Chosen option)
HIMIA® Ushd
Question No.63 Marks: 1.00
Bookmark
Which one of the boiler is not a high pressure boiler?
g SigR & ¥ 1 1 TP 3= 319 S13aR el 82
(A) O Cochran boiler (Correct Answer) (Chosen option)
TR
(B) O Velox boiler
SIgeR
(C) O Loeffler boiler
AHeR SR
(D) O Lamont boiler
U SIIeR
Question No.64 Marks: 1.00
Bookmark
For moderate speeds, the force of friction of kinetic friction remains constant. But it
slightly with the of speed.
HH T & R, i uvul 1 90 RR WA I RGTGEIAH Iy die gl
(A) O increases, decrease
), Sel &
(B) O decreases, increase (Correct Answer) (Chosen option)
qfS, wear g
(C) O decreases, decrease
FUl, gear g
(D) O increases, increases
4, Jed1 8
Question No.65 Marks: 1.00
Bookmark
Drilled holes may be reamed for improving hole
SfYd fesg ol feog ot %mﬁﬁa(ma)mww%
(A) O dimensional tolerances and tool life
ST WRWAT 3R ISR Sitad & UR
(B) O size but reduce surface finish
&% SR & YUR 1 g8 IRsHia § St
(C) O dimensional tolerances and surface finish (Correct Answer) (Chosen option)
STt Afgwar ok gy uivspfa § gur
(D) O dimensional tolerances at the expense of surface finish
Uy URSHd & g IR St Afgw)d § gur
Question No.66 Marks: 1.00
Bookmark
In a Journal bearing, the attitude is the ratio of for hydrodynamic lubrication condition.
ST O, Garfae Se 3t RN » R efigly, w1 emua @it @l
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(A) O diametral clearance and minimum film thickness

AR BT 3R gATH e [ers
(B) O Radial clearance and minimum film thickness
s SraeTRI(EioR) SR gad fhed Hiers
() O Eccentr|C|ty and diametral clearance (Chosen option)

3R ARAT ST

(D) O Eccentricity and radial clearance (Correct Answer)

Ihadr 3R By sraem

Question No.67 Marks: 1.00
Bookmark

A tank with four equal vertical faces of width t and depth h is filled up with a liquid. If the force on
any vertical side is equal to the force at the bottom, then the value of h/t will be

eTs t 3R TERTE h AT IR GHA SR Beieh] aTell Ueb &b Ueb kel A +R1 2| T, bl el
JY R A, T R T S A @, A h / t HTHA =Hull
A) O 1

(B) O 1.5 (Chosen option)
1.5

(C)O 05
0.5

(D) O 2 (Correct Answer)
2

Question No.68 Marks: 1.00
Bookmark

The maximum shear stress in a cylinder shell of 4 m diameter and plate thickness 3 cm,
subjected to an internal pressure of 3 N/mm? is

4 m 39 3R 3 cm @I BT AT a0 U6 RideR @ (), & 1 3 Nimm 2 3 sifdfve gaTa & o

2, ¥ iy Su=yur ufdea B

(A) O 100 N/mm2 (Chosen option)
100 N/mm?

(B) O 200 N/mm?
200 N/mm?

(C) O 400 N/mm?2
400 N/mm?

(D) O 50 N'mm? (Correct Answer)
50 N/mm?

Question No.69 Marks: 1.00
Bookmark

The air conditioning process during summer is .
TR} & SR TG ufshar g g
(A) O heating and dehumidification
S 3R
(B) O heating and humidification
S 3R
(C) O cooling and dehumidification (Correct Answer)

(D) O cooling and humidification (Chosen option)

e 3R 3o

Question No.70 Marks: 1.00




1/27/2021 View Question Paper

Bookmark
Risk is very clearly defined as the .
& ¥0 H 9gd WP ¥U J gRHIRG far Smar 3|
(A) O Attitude in meeting unsafe conditions
SRIRAET 2l D I A H ARy
(B) O Situation where accidents are bound to occur
g fRUfq gt g ST 8
(C) O Probability of causing harm (Correct Answer) (Chosen option)
T UEA™ Bt FUTIAT
(D) O Take chance in facing harm
R BT HHAT R BT WeRT IS
Question No.71 Marks: 1.00
Bookmark
A stone is dropped from the top of a tall building. If it takes 4 seconds to fall on the ground, find
the height of the building. lets take g='|0m/s2 .
TP URR $I Tdh Sl SARA & Y ¥ FRET a1 51 afe sk W ARA A8 4 b A 5, A
TARA &1 $HaTs I1d B | A [ g = 10m/s2.
(A) O 85m
85m
B) O 70m
70m
(C©)O 75m
75m
(D) O 80 m (Correct Answer) (Chosen option)
80 m
Question No.72 Marks: 1.00
Bookmark
The product design plays the lead role in defining the physical form of the product to best meet
the .
3IdTG 3B A & o IaTe & Hifdew U S gRUIRNT a3 § o ftyest
fAurar g1
(A) O reduction of product cost
IdIE $I ARTd H HHl
(B) O customer needs (Correct Answer) (Chosen option)
YTEP DI ATAFDATSN DI TRT
(C) O mass production
IS UM R Idre
(D) O sales target
[CERE)
Question No.73 Marks: 1.00
Bookmark
In design of shaft, pulley, key & Bearing assembly, the weakest member is
MY, FoRAT, Foit 3R ST SRiael & fESTg o, Tad HHSIR SHT8 T 82
(A) O All are made designed for equal strength
Tt 1 T wfda & forg sifiefeud fear man g
(B) O Pulley is made the weakest
iRt T8 HHASR gIelt 8
(C) O Key is made the weakest (Correct Answer) (Chosen option)
Poil HaQ HHSIR gl &
(D) O Shaft is made the weakest
MYE T HHIR 81T &
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Question No.74 Marks: 1.00

Bookmark
The stresses on two perpendicular planes through a point in a body are 100 MPa and 40 MPa
both tensile along with a shear stress of 40 MPa. The maximum failure stress as per maximum
normal stress theory is

w%ﬁwﬁg%mm@raﬁaﬁwqg‘rwm 100 MPa 3fR 40 MPa &, Gl 40 MPa &
O] UTISd o TY-1Y 4 & | SHfead I ufded Rigid & SruR ifiidmdy o
(fawardn ufdea g
(A) O 70 MPa

70 MPa

(B) O 120 MPa (Correct Answer) (Chosen option)
120 MPa

(C) O 110 MPa
110 MPa

(D) O 180 MPa
180 MPa

Question No.75 Marks: 1.00

Bookmark
Which of the following is not a boiler mounting?

frafafed § & 31 U diser SRIYUT =18} 82
(A) O economiser (Correct Answer) (Chosen option)
frdtaaifer g@iHrTEeR)
(B) O blow off cock
3Oy TIE (Al T Hich)
(C) O fusible plug
T (TRfoTael) &
(D) O safety valve
GRET (AU aTed

Question No.76 Marks: 1.00

Bookmark
While taking up method study it is desirable to identify short time and long time solutions
because :

fafdy srezram Fd T, Sred HIA SR Y HIdt aTel THIYH $I UG A1 aid-14 8, it

(A) O Management will be happy to delay long time solution
e oret Y H facid B H UseH g gRm

(B) O Changes can be implemented early in short time solution area (Correct Answer)
(Chosen option)

3T HTA THTYUT &F B uRad=T iedt @] fHu o god &
(C) O Long time solution can wait for implementation

3t et FHIYM BTaf-ag & T udhien &R Jbar g

(D) O Management gets time for decision making

fufg @9 & fore ydeH o 99 fiear @

Question No.77 Marks: 1.00

Bookmark
The Laplace heat conduction equation satisfies the following condition:

TG T e FHiBRn, fy fRufq &1 sraxgdmdrelt &1 uR1 B 872
(A) O steady state without internal heat generation (Correct Answer) (Chosen option)

¥ HHT IATEH & f9aT FRR 3raxuT

(B) O unsteady state with internal heat generation

AR a0 IdTe & 1Y TR STRT

(C) O unsteady state without internal heat generation
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SARD ST IdTEH & [T SRR 3T

(D) O steady state with internal heat generation
3{idRep a1y T o 1Y fRRR a1

Question No.78 Marks: 1.00
Bookmark
In sand casting, the following allowance is added to all linear dimensions of the casting?
T (I3) FIRET ¥, frd Fe (IArsH) B H1feT & Guft Qe smaret & SisT Sirar 82
(A) O Draft allowance
UdId (gIUC) |
(B) O Shake allowance
3dIg FeT ([1P) Be
(C) O Machining allowance (Chosen option)
At (wRif) ge
(D) O Shrinkage allowance (Correct Answer)

qPITge

Question No.79 Marks: 1.00
Bookmark

The ratio of momentum diffusivity to thermal diffusivity is termed as
T faaRurRiTerdr ¥ S faaRurRiTerdr &1 ST FeaaTal
(A) O Prandtl number (Correct Answer) (Chosen option)
(B) © Grashof number

AT
(C) O Biot number

T
(D) © Schmidt number

[ECRiC|

Question No.80 Marks: 1.00
Bookmark
Select FALSE statement related to Work Study from the given list: Work study ...
3T G ¥ H 31T O efd 3 HUH BT TG HY: BT ST |
(A) O is generally well appreciated by workers (Correct Answer) (Chosen option)
AT AR R 4P gIRT G TRIET ATl 8
(B) O provides basis for incentive scheme
e IS & foTg SMYR UG Bl §
(C) O helps to assess manpower required
HTALAH HHRIfaT BT ATHT B H Aeg Bl §
(D) O can determine time required to do a job

B3 B B P oY awae THg Fufid & Tad &

Question No.81 Marks: 1.00
Bookmark
If a mass M oscillates on a spring having a mass Ms and a stiffness k, then the natural
frequency of the system is

R TP ST M, T TR TR e el & R 5o Ms 3R 2 k 2, 9t woreht &1 wrpfas

S| Uil
(A) O

(Correct Answer) (Chosen option)
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(B) O

€O

(D) O

Question No.82 Marks: 1.00

Bookmark
Which law of thermodynamics can be termed as law of degradation of energy?

ST & e g &1 SHoil & &R &1 FH FH5T 1 Fohdl 52
(A) O Third law of thermodynamics
SN &1 o fAag
(B) O Second law of thermodynamics (Correct Answer) (Chosen option)

&1 fodta fFram
(C) O First law of thermodynamics

SRS &1 9yH Faq

(D) O Zeroth law of thermodynamics

SHNTAB Y 3ffe o

Question No.83 Marks: 1.00

Bookmark
Two springs with stiffness 2 N/m and 3 N/m are connected in parallel, then the equivalent
stiffness is .
2 N/m 3R 3 N/m & Tgar ardl &t BT THieR 93 ], df o0 gad =il
(A) O 2N/m
2 N/m

(B) O 5 N/m (Correct Answer) (Chosen option)
5N/m

(C)O 3 N/m
3 N/m

(D) O 1N/m
1 N/m
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Question No.84 Marks: 1.00
Bookmark
In an isolated system, .
Th gy YuTTel! H, |
(A) O there is no mass transfer, but there are work and heat transfer
(B) O there is a mass transfer, but no work and heat transfer
(C) O thereis a mass transfer and work transfer, but no heat transfer
ST RIFTARYT 3 T RIFERY 81l 8, TR H1S S RIFTARY el 8t

(D) O there is no mass, work and heat transfer (Correct Answer) (Chosen option)

Question No.85 Marks: 1.00
Bookmark
Which one following statements is incorrect regarding reheating process in gas turbine?

fafaRed # @ SF 91 Y, 19 TaRH & ARATg UihdT & 9 | 7Ted 672
(A) O Itincreases thermal efficiency (Correct Answer)

g AT G&IdT IeTT ©
(B) O It reduces moisture which cause erosion of turbine blades

gg T ) HH BT & oD eaT= IS HT &R gl &

(C) O It uses multistage expansion

g TgUE IR BT JUINT ol

(D) O ltincreases specific work output (Chosen option)

Tg fafdy ot fefr HY sgrar @

Question No.86 Marks: 1.00
Bookmark
If all observations in the sample fall within 3 s control limits, we would expect with
confidence that the process is in control.
g ufaes & @it sraetie, 3 s a0 dimn & iR ora 8, @l 8y fayma & I
H4 & uforan Ao & g1
(A) O 96.5%
96.5%
(B O 95%
95%
(C) O 99.7% (Correct Answer) (Chosen option)
99.7%
(D) O 99%
99%

Question No.87 Marks: 1.00
Bookmark
In closed die forging, the amount of material initially taken is very carefully controlled, so that :

Tgd S BT, 3Ry & oft 71 grreht &1 A Y Sgd Ay A Fafd fear s g, e
!

(A) O no flash is formed (Correct Answer)
CIERCRIEKCE]

(B) O flash is formed
TR

(C) O flash acts as cushioning for the dies (Chosen option)

TR, T8 & 7T JULTHH & =0 H B HY
(D) O itis suitable for batch production
Ig 99 IdEA & oI Iugad &l
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Question No.88 Marks: 1.00

Bookmark
The slope at the support of a simply supported beam having uniformly distributed load
throughout its span is

%wwmﬁwﬁﬂﬁﬁmwwﬁﬁaﬁﬁm% $TH WS (slope)

(A) O

B) O

(Correct Answer)

€)O

(D) O

(Chosen option)

Question No.89 Marks: 1.00

Bookmark
As per Kendall Notation, 'c' represents

Fed AT & R, 'c' fhget fFReuur avar 82
(A) O System capacity (Chosen option)
B &HT
(B) O Service time distribution
a1 g9 fadRul
(C) O No. of parallel servers (Correct Answer)
HHMIGR JaRi B &I
(D) O Size of calling population
SITEI (PITCHT) UIYAR BT HHR

Question No.90 Marks: 1.00

Bookmark
According to Value Engineering concepts proposed by Jerry Kaufman, value is defined as a ratio

@ﬁaﬂwﬁqmmﬁﬁuﬁﬁ@sﬁﬁﬁwﬁn&mwaﬁ$&aﬂﬂ A (deg) B
¥ 3FUd & FU B uRHT forar mar ]
(A) O sum of wants and needs and resources
ZeT3fl 3R SReRdl SR TTeH & T
(B) O function and cost (Correct Answer) (Chosen option)
GING)

(C) O worth and effort




1/27/2021 View Question Paper

T 3R T

(D) O objectives and cost

IR 3R AFTd

Question No.91 Marks: 1.00
Bookmark

A steel work piece is to be milled. Material removal rate is 25 cm?3 /min, depth of cut and width of
cut are 5 mm and 100 mm respectively. The rate of feed (table feed) is

U 3T B WS B T Bt ot g | Ireht gy &R 25 cm® /min B, Pe BN TETE IR He B
%ﬁgs‘5mmsﬁ?100mm%|ww@wuﬂ3 PR Rl

(A) O 50 mm/min (Correct Answer) (Chosen option)
50 mm/min

(B) © 50 cm/min
50 cm/min

(C) O 100 mm/min
100 mm/min

(D) O 75 mm/min
75 mm/min

Question No.92 Marks: 1.00
Bookmark
The minimum number of teeth on the pinion in order to avoid interference for a 20 degree full
depth involute system of gears is
iR & 20 W@WMU&WWW%WW@H@W%WWW@
DI YAqH TS G
(A) O 20
20

(B) O 22
22

(C)O 14
14

(D) O 18 (Correct Answer) (Chosen option)
18

Question No.93 Marks: 1.00
Bookmark
The maximum magnitude of the unbalanced force along the perpendicular to the line of stroke is
termed as
W1 31 R 09 S WY 3R S & SfRimas uRaTr S ARSI
(A) O hammer blow (Correct Answer) (Chosen option)
YATITd

B) O syvaying couple
ggH
(C) O hunting

EISNE]
(D) O tractive effort
THYUT ST

Question No.94 Marks: 1.00
Bookmark
Which one of the following conditions is not satisfied for saturated air?
frafefad & § o @ fRufa, dqu arg & i ae) 76l 22
(A) O DBT is equal to DPT
DBT, DPT & SRR gIdl §
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(B) O 100 percent relative humidity
100 Hfr=Td ATAfare Smear

(C) O Specific humidity is constant (Correct Answer) (Chosen option)
fafRre smdar Ao gt &

(D) O Zero wet bulb depression
Y 3T Ted 3faed

Question No.95 Marks: 1.00

Bookmark
The ratio of maximum displacement to initial deflection is termed as

3iferepaH faei o1 uRfte fauu § erurd Hgard gl
(A) O magnification factor (Correct Answer) (Chosen option)
ST Ture
(B) O logarithmic decrement
AYIUIDIY U
(C) O damping factor
S{qHS TUTH
(D) O critical damping coefficient
£ e 0T

Question No.96 Marks: 1.00

Bookmark
A steel rod of 30 mm diameter and 5 m long is connected to two grips and the rod is maintained

at 95°C. Determine the stress induced in the rod when it is cooled to 30°C, if E=2><105MN/m2; a
=12x10% /°C .
30 mm SR 3R 5 m Tiell T €I B! S <l Uobg () & St g1l @ 3R ©8 95°C W S 3!
STt 81 30°C dF 38T 8 R ©s | R ufded &1 fAuRor a3, afe E = 2 x 105MN/m?2; a =
12x10-6/°C B
(A) O 185 N/mm?2

185 N/mm?

(B) O 65 N/mm?
65 N/mm?

(C) O 156 N/mm? (Correct Answer) (Chosen option)
156 N/mm?

(D) O 165 N/mm?
165 N/mm?

Question No.97 Marks: 1.00

Bookmark
The phenomenon in which fluctuation of speed continuously when there is small variation in
load:

g gReeT § 4R & B1 frsrar 819 R RO 1R & IaR-Iea aar 8, a8 gl
(A) O isochronism
RECANe}
(B) O hunting (Correct Answer) (Chosen option)
EIGKAGE
(C) O unstable
3RS

(D) O stable

I

Question No.98 Marks: 1.00




Visit . wyyw.exammix.com & Download : All Exam Previous Question Papers (Hindi & English)

Bookmark
An open circular tank of radius R mm and long L mm contains water up to a height of x mm
(where, x<L). The tank is rotated about its vertical axis at w r.p.s, the depth of parabola (Z2)
varies with

Rmmﬁwﬁ?memﬁa@@W%ﬁxmm (STet, x <L) B S8 d& Tl 4RT 71l g |
TR w rpsW%ﬂHﬁ@ﬁfﬂ?&&[%ﬁﬂﬁWWW% RAAG (Z)PITERS S IY
gfafdfd gt 81
(A) O the square root of w only

w hT

(B) O the square of R & the square root of w

R &1 a7 3R w T T

(C) O the square of R only
Fad R &1 aif

(D) O the square of R & w (Correct Answer) (Chosen option)
R 3R w &1

Question No.99 Marks: 1.00

Bookmark
Which condition is not satisfied for the nozzle?

T § B Ot fRufa Fota & forg w16t 32
(A) O Velocity increases
CUKTI
(B) O Heat transfer is zero
ST SR I Bl §
(C) O Velocity decreases (Correct Answer) (Chosen option)
A7 HH g |11 7
(D) O Work transfer is zero
HTI GIATRUN YL BT &

Question No.100 Marks: 1.00

Bookmark
The gauge useful for checking the component dimension which lies within the permissible limits

is .
30T T o iR el geeh sma™ &1 Sira & forg Iuarh s g gl
(A) O go and no-go gauge

M 3R AT TS

(B) O snap gauge
[ el

(C) O plug gauge
'S RIS

(D) O limit gauge (Correct Answer) (Chosen option)
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